

EC872 (Revised 2006)

NEBRASKA CROP BUDGETS 2006

By

University of Nebraska–Lincoln
Roger A. Selley, editor
Tina Barrett and
Robert N. Klein, co-editors
Paul Hay
Tom Holman
Keith Jarvi
Ron Seymour
Gary Zoubek



Extension is a Division of the Institute of Agriculture and Natural Resources at the University of Nebraska–Lincoln cooperating with the Counties and the United States Department of Agriculture.

University of Nebraska–Lincoln Extension educational programs abide with the nondiscrimination policies of the University of Nebraska–Lincoln and the United States Department of Agriculture.

Table of Contents

Resource Persons	2
Crop Budgeting Procedures	3
Machinery Operation and Ownership Costs	5
Materials and Services Prices	7
Crop Budget Production Cost Summary	12
Crop Budgets Table of Contents	13

Crop Budgets

Nebraska - 2006

Edited by

Roger Selley
Extension Farm Management Specialist
Tina Barrett and
Robert Klein, co-editors

Resource Persons

Staff who can be contacted to answer questions are:

Extension Farm Management Co	hjose1@unl.edu ordinator omics, P.O. Box 830922, 304C Filley Hall	
Tina Barrett Nebraska Farm Business Associa 3815 Touzalin Ave., Ste 105 Lincoln, NE 68507	tbarrett2@unl.edu ation Executive Director	(402) 464-6324
Extension Cropping Systems Spe	rklein1@unl.eduecialist nsion Center, 461 W. University Dr., Nort	,
Keith JarviIntegrated Pest Management Spe 601 E. Beniamin Ave. Suit #104.		(402) 370-4016

Thanks to Keith Jarvi for help with insecticide prices and applications, and to Ron Seymour for help with insecticide applications. Also thanks to Tom Holman for help with budgeting Panhandle crops, Gary Zoubek for help with Central Nebraska irrigated, and Paul Hay for dryland crops in Southeastern Nebraska. Thank you to Greg Gartrell with the Nebraska Farm Business for helping collect and process the information reported here.



University of Nebraska–Lincoln Extension Institute of Agriculture and Natural Resources

2006 Crop Budgeting Procedures

A list of representative field operations and materials is provided as a reminder of items typically involved in producing the crop. The budgets are presented in a worksheet format with a "Your Estimate" column for recording modifications in costs.

Labor costs for each operation were calculated from machinery accomplishment rates and adjusted for additional time required for getting machinery ready, adjusting machinery, and handling fertilizer and other supplies. Some operations are budgeted to cover completion multiple times, for example, swathing the several cuttings of hay. The labor and equipment costs shown are the estimated cost for completing the operation the number of times indicated in the "Times or Qty" column. If the operation is completed on only part of the acres or part of the time, the "Times or Qty" is shown in italics. Where the operation involves a unit other than acres, for example tons or AI (acre inches), the budgeted costs are for the total quantity indicated in the "Times or Qty" column.

Labor is budgeted at \$10 per hour, diesel fuel at \$2 per gallon, and electricity at 5 cents per KWH. These prices were selected to make adjustments in labor and energy costs easier.

Estimating labor and equipment costs requires assumptions about the size of the equipment. Costing factors, based on information in the *Agricultural Engineer's Yearbook*, specify repair rates and trade-in values as a proportion of list prices. Equipment prices for summer 2005 or later were used. Representative discounts from list were used to determine purchase costs. The amount each machine was used annually and the years-to-trade then determines hourly repair costs and average annual depreciation and investment. The resulting machinery cost estimates are averages over the years of use.

Irrigation costs were calculated using engineering performance standards and typical water application rates which will depend on the rainfall area. Power costs for irrigation refer to the pump and power unit and implement costs are for the delivery system (pipe or pivot). Depreciation and interest for the well are budgeted with land costs.

Materials and services may also be applied on part of the acres, e.g., 20 percent of the acres in that year, or part of the time, e.g., one year in five. If less than 100 percent of the acres are treated, the percent acres is shown in italics in the "Acres" column under the Materials and Services Section. The operation number in the Materials and Services section indicates the field operation in the Field Operations section. The cost for each material/service is computed by multiplying the percentage acres times the quantity/acre times the price/unit.

Herbicide and insecticide treatments budgeted are generally one of several materials that could be used. The target pests for insecticide treatments budgeted are:

Crop	Target Pests
Alfalfa	Alfalfa weevil, potato leaf hopper, aphids, and army cutworm
Corn	Corn rootworm in corn following corn, first and second generation European corn borer, western bean cutworm, spider mites. Soil insect complex (wireworm, white grub, various species of cutworms)
Dry beans	Mexican bean beetle, western bean cutworm
Grain sorghum	Greenbugs
Soybeans	Soybean aphids, Bean leaf beetle, other defoliating insects
Sugarbeets	Sugarbeet root maggot, cutworms and wireworms
Sunflowers	Sunflower head moth, seed weevil
Wheat	Russian wheat aphid, army cutworm

Operating capital interest is calculated on cash expense, which includes the cost of materials and services plus the field operations cost excluding depreciation. Overheads are budgeted to cover business costs not directly related to field operations. Management is also budgeted to provide a return to management and to cover management costs such as scouting and crop insurance. Eight percent of historical revenue levels were budgeted as a management fee.

Machinery and land ownership costs are budgeted to provide a return to (or interest on) investment and to cover property taxes and insurance (and housing for machinery). The interest on investment is calculated using a representative market rate of interest less the expected rate of inflation (the real rate of interest). Land costs and yields have been specified in each budget but will depend upon rainfall and soil productivity. A cash rent would substitute for the real estate taxes and interest on land and interest and depreciation for improvements (irrigation wells) and depreciation and repairs of any irrigation equipment provided by the landlord. Establishment costs for perennial forages are spread over the expected life of the stand.

Space is provided to estimate the value of production plus farm program payments. Any net revenue would be an additional return to labor, management, and investment capital.

Related publications available at your local Extension office:

CC 371	Estimated Irrigation Costs
EC 823	Nebraska Farm Custom Rates-Part I
EC 826	Nebraska Farm Custom Rates-Part II
EC 818	Nebraska Livestock Budgets
EC 809	Nebraska Farm Real Estate Market Developments
EC 883	Crop and Livestock Prices for Nebraska Producers
EC 130	Guide for Weed Management in Nebraska



University of Nebraska–Lincoln cooperating with the Counties and the United States Department of Agriculture.

University of Nebraska–Lincoln Extension educational programs abide with the nondiscrimination policies of the University of Nebraska–Lincoln and the United States Department of Agriculture.

2006 Machinery Ownership And Operation Costs

		\$ Cost per Acre, Diesel @ \$2.00 per gallon, Wage\$10.00/ hr							Pwr to Trade				Imp to Trade			ide				
			Fuel&	Repa	irs	Depr	ec	THII@	6.5%		Equi	oment	Pwr		Hrs	%	lmp			%
Operation	Unit	Labor	Lube	Power	Impl	Power	Impl	Power	Impl	Total	Pwr	Imp	Bot \	′rs	/yr	Life	Bot Y	rs	Ann'l use	Life
Primary Tillage																				
Chisel	1 ac	\$0.98	\$1.49	\$0.15	\$0.58	\$0.86	\$0.78	\$0.85	\$0.94	\$6.63	130HP	19FT	New	15	400	38%	New	20	760 ac	73%
Chisel	1 ac	0.98	1.49	0.27	0.58	0.50	0.78	0.48	0.94	6.02	130HP	19FT	New	15	700	66%	New	20	760 ac	73%
Disc	1 ac	1.00	1.52	0.16	0.83	0.88	0.85	0.86	0.71	6.81	130HP	21FT	New	15	400	38%	New	15	1,260 ac	93%
Disc	1 ac	1.00	1.52	0.27	0.83	0.51	0.85	0.49	0.71	6.18	130HP	21FT	New	15	700	66%	New	15	1,260 ac	93%
Field Cult	1 ac	0.51	0.77	0.08	0.47	0.44	0.48	0.44	0.47	3.66	130HP	28FT	New	15	400	38%	New	15	2,380 ac	88%
Field Cult	1 ac	0.51	0.77	0.14	0.47	0.26	0.48	0.25	0.47	3.34	130HP	28FT	New	15	700	66%	New	15	2,380 ac	88%
Plow	1 ac	1.65	2.51	0.53	1.82	1.10	1.15	0.91	1.14	10.82	160HP	8-18	New	15	700	66%	New	15	800 ac	97%
Subsoil	1 ac	1.32	2.00	0.30	0.40	1.86	2.77	1.58	3.16	13.41	200HP	12.5FT	New	15	400	38%	New	20	200 ac	26%
Disk ripper	1 ac	1.58	2.71	0.63	0.57	1.30	3.31	1.08	3.08	14.25	200HP	12.5FT	New	15	700	66%	New	20	300 ac	47%
Seed Bed Preparation																				
Fallow Master	1 ac	0.51	0.81	0.20	0.49	0.41	1.05	0.34	1.20		200HP	28FT	New	15	700	66%	New	20	1,200 ac	59%
Harrow	1 ac	0.59	0.22	0.43	0.08	0.04	0.28	0.12	0.43	2.18	60HP	24FT	Used	10	200	77%	New	30	500 ac	43%
Rod Weeder	1 ac	0.83	0.82	0.22	0.61	0.42	1.12	0.41	1.04	5.46	130HP	24FT	New	15	700	66%	New	20	800 ac	65%
Roll	1 ac	1.10	1.10	1.05	0.30	0.09	1.81	0.28	2.15	7.89	75HP	15FT	Used	10	200	77%	New	30	300 ac	49%
Roller Harrow	1 ac	1.38	0.98	1.00	0.46	0.09	0.61	0.27	0.59	5.38	60HP	12FT	Used	10	200	77%	New	20	720 ac	97%
Application of Fertilizers a	and Ch	emicals																		
Anhy Apply	1 ac	1.04	1.47	0.18	Incl	1.13	Incl	0.96	Incl	4.78	200HP	Incl	New	15	400	38%				
Anhy Apply	1 ac	1.39	1.62	0.20	0.60	1.23	0.59	1.04	0.52	7.19	160HP	22.5FT	New	15	400	38%	New	12	800 ac	84%
Anhy Apply	1 ac	1.05	1.22	0.18	1.21	1.13	1.16	0.96	1.28	8.20	200HP	30FT	New	15	400	38%	New	15	800 ac	79%
Anhy Apply(attach)	1 ac	0.27			0.16		0.16		0.14	0.73		22.5FT					New	12	800 ac	84%
Anhy Apply(attach)	1 ac	0.16			0.16		0.16		0.14	0.62		22.5FT					New	12	800 ac	84%
Apply Nemat	1 ac										Custom									
Spray	1 ac	0.49	0.23	0.29	0.25	0.03	0.21	0.08	0.23	1.81	60HP	50FT	Used	10	200	77%	New	15	2,500 ac	98%
Spray	1 ac										Custom									
Spray	1 ac	0.81	0.25	0.48	0.16	0.04	0.18	0.13	0.20	2.26	60HP	30FT	Used	10	200	77%	New	15	1,200 ac	78%
Spray(attached)	1 ac	0.16			0.16		0.18		0.20	0.71		30FT					New	15	1,200 ac	78%
Spray liquid fert	1 ac	0.81	0.25	0.48	0.16	0.04	0.18	0.13	0.20	2.26	60HP	30FT	Used	10	200	77%	New	15	1,200 ac	78%
Spread,Fert.	1 ac	0.78	0.55	0.46	Incl	0.04	Incl	0.12	Incl	1.96	60HP	Incl	Used	10	200	77%				
Spread manure	1 ac										Custom									
Planting																				
Drill	1 ac	0.68	0.95	0.10	2.34	0.55	2.94	0.54	3.78		130HP	35FT	New	15	400	38%	New	20	1,000 ac	82%
No-Till Drill	1 ac	1.59	1.80	0.23	1.99	1.28	1.81	1.26	2.32		130HP	15FT	New	15	400	38%	New	20	500 ac	95%
Drill	1 ac	1.49	1.36	1.31	0.84	0.12	0.87	0.35	1.12	7.46	75HP	16FT	Used	10	200	77%	New	20	500 ac	89%
Plant	1 ac	1.82	0.91	0.25	0.54	1.41	2.08	1.38	1.63		130HP	6-30	New	15	400	38%	New	8	500 ac	42%
Plant	1 ac	1.82	0.91	0.44	0.54	0.81	2.08	0.79	1.63		130HP	6-30	New	15	700	66%	New	8	500 ac	42%
Plant No-Till	1 ac	2.03	1.27	0.28	1.05	1.56	1.56	1.54	1.53		130HP	6-30	New	15	400	38%	New	12	500 ac	70%
Till Plant Beets	1 ac	1.52	2.54	0.53	0.51	1.10	3.84	0.91	4.94		200HP	8-30	New	15	700	66%	New	20	200 ac	35%
Plant Narrow Row	1 ac	2.03	1.27	0.28	1.74	1.56	2.59	1.54	2.54		130HP	6-30/15	New	15	400	38%	New	12	500 ac	70%
Ridge Plant	1 ac	2.03	1.27	0.28	1.05	1.56	1.56	1.54	1.53		130HP	6-30	New	15	400	38%	New	12	500 ac	70%
Seeder/Packer	1 ac	2.22	1.75	1.49	Rent	0.13	Rent	0.40	Rent	5.99	60HP	Rent	Used	10	200	77%				
Grass Drill	1 ac	2.22	1.75	1.49	Rent	0.13	Rent	0.40	Rent	5.99	60HP	Rent	Used	10	200	77%				
Row Crop Tillage																				
Hoe	1 ac	0.66	0.47	0.10	0.05	0.58	0.31	0.57	0.29		130HP	15FT	New	15	400	38%	New	20	500 ac	32%
Ridge Cult	1 ac	1.68	1.64	0.26	0.66	1.45	0.63	1.42	0.62		130HP	6-30	New	15	400	38%	New	15	750 ac	91%
Row Crop Cult	1 ac	1.68	0.94	1.08	0.29	0.57	0.28	0.89	0.27		105HP	6-30	Used	20	200	70%	New	15	750 ac	91%
Hill/ditch	1 ac	1.68	1.64	0.26	0.66	1.45	0.63	1.42	0.62	8.37	130HP	6-30	New	15	400	38%	New	15	750 ac	91%

2006 Machinery Ownership And Operation Costs

		\$ Cost per Acre, Diesel @ \$2.00 per gallon, Wage\$10.00/ hr							Pwr to Trade				Imp to Trade							
			Fuel&	Repa		Depr		THII@	6.5%		Equip	oment	Pwr		Hrs	%	Imp			%
Operation	Unit	Labor	Lube	Power	Impl	Power	Impl	Power	Impl	Total	Pwr	lmp	Bot \	۲rs	/yr	Life	Bot \	rs .	Ann'l use	Life
Irrigation																				
Corrigate	1 ac	\$1.55	\$1.25	\$0.86	\$0.09	\$0.46	\$0.39	\$0.71	\$0.60	\$5.91	105HP	15FT	Used	20	200	70%	New	30	200 ac	39%
Ditch	1 ac	2.28	2.21	0.30	0.06	1.70	0.24	1.67	0.29	8.76	130HP	Ditch	New	15	400	38%	New	30	200 ac	57%
Labor																				
Thin	1 ac										Labor									
Weed	1 ac										Labor									
PreHarvest																				
Cut Dry Beans	1 ac	1.80	1.88	0.45	0.35	0.83	0.89	0.81	1.05	8.06	130HP	15FT	New	15	700	66%	New	30	300 ac	73%
Top Beets	1 ac	1.88	1.36	0.52	1.18	0.97	2.65	0.94	2.55	12.05	130HP	6ROW	New	15	700	66%	New	20	300 ac	94%
Lift Beets	1 ac	2.13	2.42	0.53	12.52	0.99	8.90	0.96	6.58	35.03	130HP	6ROW	New	15	700	66%	New	12	600 ac	92%
Turn Windrows	1 ac	0.88	0.34	0.65	0.08	0.06	0.64	0.17	0.60	3.42		9FT	Used	10	200	77%	New	20	300 ac	25%
Double Windrows	1 ac	0.88	0.34	0.65	0.24	0.06	2.04	0.17	1.92	6.30	60HP	9FT	Used	10	200	77%	New	20	300 ac	25%
Rod Dry Beans	1 ac	1.94	1.88	0.45	0.27	0.83	0.55	0.81	0.65		130HP	15FT	New	15	700	66%	New	30	300 ac	73%
Swath/Cond Hay	1 ac	1.23	1.25	0.82	1.05	0.43	1.19	0.67	1.08		105HP	14FT	Used	20	200	70%	New	20	1.000 ac	98%
Windrow Grain	1 ac	1.15	0.69	0.64	0.16	0.34	2.23	0.52	2.09		105HP	18FT	Used	20	200	70%	New	20	500 ac	32%
Pickett Windrower	1 ac	1.55	1.75	0.43	1.05	0.88	2.88	0.73	3.41	12.69		15FT	New	15	700	66%	New	30	300 ac	58%
Harvesting			0	00		0.00	2.00	00	0							0070		•	000 40	0070
Sm Sg Bale	1 ton	2.55	0.89	1.71	1.25	0.15	2.49	0.46	3.04	12.53	60HP	50Lb	Used	10	200	77%	New	30	200 ton	69%
Lg Rd Bale	1 ton	0.82	0.43	0.12	0.32	0.66	2.39	0.65	2.31	7.70	130HP	1500Lb	New	15	400	38%	New	20	300 ton	30%
Lg Sq Bale	1 ton	0.68	0.77	0.12	0.74	0.72	1.45	0.61	1.77		160HP	1350Lb	New	15	400	38%	New	30	1,200 ton	74%
Lg Sg Bale	1 ton	0.00	0.77	0.12	0.7 1	0.72	1.10	0.01		0.00	Custom	TOOOLD	11011		100	0070	11011	00	1,200 1011	1 170
Combine	1 ac	1.94	3.13	2.42	0.22	9.90	0.67	5.82	0.54	24.63	190HP	Pickup	New	10	200	67%	New	20	750 ac	87%
Combine	1 ac	1.52	2.92	1.90	0.11	7.77	1.13	4.57	0.97		190HP	G20FT	New	10	200	67%	New	20	500 ac	46%
Combine	1 ac	1.52	2.92	1.98	0.11	8.09	1.13	4.75	0.97		220HP	G20FT	New	10	200	67%	New	20	500 ac	46%
Combine	1 ac	0.97	2.32	1.40	0.11	5.73	0.61	3.37	0.51		275HP	G30FT	New	10	200	67%	New	20	1,200 ac	70%
Combine dryland	1 ac	2.02	3.87	2.52	0.14	10.31	1.79	6.06	1.28			6-30	New	10	200	67%	New	15	800 ac	95%
Combine dryland	1 ac	2.64	5.07	3.30	0.86	13.50	1.79	7.93	1.28	36.37	190HP	6-30	New	10	200	67%	New	15	800 ac	95%
Combine	1 ac	1.94	3.72	2.42	0.37	9.90	0.87	5.82	0.72		190HP	15'Flex	New	10	200	67%	New	20	800 ac	93%
Chop Silage	1 ac	1.07	0.12	2.72	0.57	3.30	0.07	5.02	0.72	25.70	Custom	101 lex	INCW	10	200	01 /0	INCW	20	000 ac	33 /0
Handling	i ac										Custom									
Auger	100 bu	0.36	0.12	0.23	0.06	0.02	0.15	0.06	0.15	1.16	60HP	10"	Used	10	200	77%	New	20	200 bu000	61%
Cart	100 bu	0.36	0.12	0.23	0.34	0.02	0.13	0.00	0.13		160HP	750BU	New	15	400	38%	New	20	200 bu000 200 bu000	76%
Dry	1 bu	0.40	0.59	0.07	0.34	0.45	0.56	0.36	0.54	3.41	Custom	73000	INEW	15	400	30 70	ivew	20	200 00000	1070
,	100 bu				0.04		0.05		0.06	0.15	Custom	240BU					New	30	200 bu000	80%
Gravity wagon Stack Sm Sg	1 ton	3.20	1.03	1.98	0.04	0.18	0.03	0.53	0.00	8.06	60HP		Used	10	200	77%		30	300 ton	80%
,		1.20	0.88	0.19	0.26		0.39					Wagon		15	400	38%	New	20	450 ton	17%
Load Lg Sq	1 ton	0.89	0.65			1.17 0.66	0.79	0.99	0.74 0.09	6.02	130HP	Loader Fork	New New	15	400	38%	New New	30		22%
Move Lg Rd	1 ton	0.09	0.05	0.12	0.01	0.00	0.06	0.65	0.09	3.15		FOIK	ivew	15	400	30%	ivew	30	200 ton	2270
Truck	1 bu										Custom									
Truck	1 cwt										Custom									
Truck	1 ton										Custom									
Miscellaneous	4 -	0.00	0.00	0.40	0.05	0.00	0.01	0.05	0.50	4.00	400115	0057	Maria	45	400	000/	Maria	00	000	000/
Chop Stalks	1 ac	0.88	0.93	0.12	0.25	0.66	0.61	0.65	0.56	4.66	130HP	20FT	New	15	400	38%	New	20	800 ac	98%
Pack Silage	1 ton	0.30	0.22	0.05	0.05	0.29	0.79	0.25	0.74	2.69	160HP	Loader	New	15	400	38%	New	20	450 ton	17%

	Trices used for 2000 Grop Budgets			Budget
Item		Price Quote	Conversion	Price/unit
Custom Operation Rates				
Aerial Spray		\$5.00 /ac	1 ac	\$5.00 /ac
Apply Anhy N/Coulters	3	8.00 /ac	1 ac	8.00 /ac
Bale L R 1500 lb		8.00 /bale	1 bale	8.00 /bale
Bale L Sq 1200 lb		8.00 /bale	1 bale	8.00 /bale
Bale Sm Sq 65 lb		0.50 /bale	1 bale	0.50 /bale
Chisel plow		8.00 /ac	1 ac	8.00 /ac
Chop, Haul, Pack		5.00 /ton	1 ton	5.00 /ton
Combine		25.00 /ac	1 ac	25.00 /ac
Cultivate		7.00 /ac	1 ac	7.00 /ac
Disk Primary		8.00 /ac	1 ac	8.00 /ac
Disk Secondary		7.00 /ac	1 ac	7.00 /ac
Drill No-Till		12.00 /ac	1 ac	12.00 /ac
Drill Sm Grain		10.00 /ac	1 ac	10.00 /ac
Drill Soybeans		8.00 /ac	1 ac	8.00 /ac
Dry 4 Points Removed		0.26 /bu	1 bu	0.26 /bu
Field Cultivate		7.00 /ac	1 ac	7.00 /ac
Haul Beets		3.00 /ton	1 ton	3.00 /ton
Haul Grain bu		0.10 /bu	1 bu	0.10 /bu
Haul Grain bu Westerr	1	0.11 /bu	1 bu	0.11 /bu
Haul Grain cwt		0.20 /cwt	1 cwt	0.20 /cwt
Haul Silage		1.00 /ton	1 ton	1.00 /ton
Haul&Apply Manure		1.50 /ton	1 ton	1.50 /ton
Move Bales L R		2.00 /bale	1 bale	2.00 /bale
Move Bales Sm Sq		0.25 /bale	1 bale	0.25 /bale
Nemat Mtl & Applic		125.00 /ac	1 ac	125.00 /ac
Plant No-Till Row Crop)	12.00 /ac	1 ac	12.00 /ac
Plant Row Crop		10.00 /ac	1 ac	10.00 /ac
Spray .		5.00 /ac	1 ac	5.00 /ac
Swath/Crimp Hay		8.00 /ac	1 ac	8.00 /ac
Windrow Grain		8.00 /ac	1 ac	8.00 /ac
Fertilizers				
0-0-22-22s-11mg	Potass Sulphate	236.25 /ton	2,000 lb	\$0.12 /lb
10-34-0	Liquid Mix	285.00 /ton	175.6 gal	1.62 /gal
10-34-0-1z	Liquid Mix	320.00 /ton	176.5 gal	1.81 /gal
11-52-0	Mono Ammonium Phosphate	332.50 /ton	2,000 lb	0.17 /lb
28-0-0	Liquid N	237.20 /ton	560 lb N	0.42 /lb N
46-0-0	Urea	350.00 /ton	920 lb N	0.38 /lb N
82-0-0	Anhy Ammonia	393.00 /ton	1,640 lb N	0.24 /lb N
90 %Sulfur	Sulfur	470.00 /ton	1,800 lb S	0.26 /lb S
Uncomposted manure		27.50 /16 tor	16 ton	1.72 /ton
Fungicide				
Supertin		37.25 /lb	16 oz	2.33 /oz
Tilt		360.00 /gal	128 oz	2.81 /oz
Herbicide				
2,4-D Amine		12.00 /gal	8 pt	1.50 /pt
2,4-D Ester 4#		15.00 /gal	8 pt	1.88 /pt
2,4-D Ester 6#		20.00 /gal	8 pt	2.50 /pt
21-0-0-26s	Spray Grade Ammonium Sulfate	0.23 /lb	1 lb	0.23 /lb
AATrex 4L		13.00 /gal	4 qt	3.25 /qt
AAtrex DF		2.80 /lb	1 lb	2.80 /lb
Accent		37.00 /oz	1 oz	37.00 /oz
Accent Gold		8.40 /oz	1 oz	8.40 /oz
Aim		7.00 /oz	1 oz	7.00 /oz
Aim EW		152.67 /qt	1 qt	152.67 /qt
Alanap L		40.00 /gal	4 qt	10.00 /qt
Ally		\$25.40 /oz	1 oz	25.40 /oz
Ally Extra		10.60 /oz	1 oz	10.60 /oz
Amber		7.68 /oz	1 oz	7.68 /oz

	i iiooo ooda ioi zooo orop zaagoto			Budget
Item		Price Quote	Conversion	Price/unit
Herbicide		0.00 /	4	0.00 /
Amber Custom Pak Aquathol 1.6E		8.90 /oz 73.00 /gal	1 oz 4 qt	8.90 /oz 18.25 /qt
Aquathol Super K		19.00 /Jb	16 oz	1.19 /oz
Arsenal		308.00 /gal	4 qt	77.00 /qt
Assure II		146.00 /gal	128 oz	1.14 /oz
Atrazine 4F		10.56 /gal	4 qt	2.64 /qt
Atrazine 4L		10.60 /gal	4 qt	2.65 /qt
Atrazine 90 DF		2.30 /lb	1 lb	2.30 /lb
Authority		29.00 /lb	16 0z	1.81 /0z
Axiom		20.00 /lb	16 oz	1.25 /oz
Backdraft SL		20.50 /gal	4 qt	5.13 /qt
Balance Pro		7.50 /oz	1 oz	7.50 /oz
Banvel		76.00 /gal	128 oz	0.59 /oz
Basagran Basis		86.00 /gal 18.20 /oz	8 pt 1 oz	10.75 /pt 18.20 /oz
Basis Gold		21.70 /lb	16 oz	1.36 /oz
Beacon		29.60 /oz	1 oz	29.60 /oz
Betamix		106.00 /gal	128 oz	0.83 /oz
Beyond		580.00 /gal	128 oz	4.53 /oz
Bicep II Magnum		45.00 /gal	4 qt	11.25 /qt
Bicep Lite II Magnum		59.00 /gal	4 qt	14.75 /qt
Blazer		67.00 /gal	8 pt	8.38 /pt
Boundary		82.00 /gal	8 pt	10.25 /pt
Bronate		65.50 /gal	8 pt	8.19 /pt
Bronate Advanced		65.00 /gal	8 pt	8.13 /pt
Buctril		67.00 /gal	8 pt	8.38 /pt
Buctril + Atrazine		44.00 /gal	4 qt	11.00 /qt
Bullet Butyrac 200		22.00 /gal 36.00 /gal	4 qt 4 qt	5.50 /qt 9.00 /qt
Callisto		586.00 /gal	128 oz	4.58 /oz
Camix		61.00 /gal	8 pt	7.63 /pt
Canopy XL		38.00 /lb	16 oz	2.38 /oz
Canvas		14.50 /oz	1 oz	14.50 /oz
Casoron 4G		2.35 /lb	1 lb	2.35 /lb
Celebrity Plus		92.00 /lb	1 lb	92.00 /lb
Cimarron		23.00 /oz	1 oz	23.00 /oz
Cimarron MAX	case	290.00 /oz	290.00 oz	290 /oz
Clarity		103.00 /gal	8 pt	12.88 /pt
Classic		14.00 /oz	1 oz	14.00 /oz
Cobra		158.00 /gal	128 oz	1.23 /oz
Conclude Xact G		71.00 /gal	8 pt	8.88 /pt
Crop Oil Concentrate Crossbow		4.80 /gal 60.00 /gal	8 pt	0.60 /pt 7.50 /pt
Curtail		40.00 /gal	8 pt 8 pt	5.00 /pt
Curtail M		46.00 /gal	8 pt	5.75 /pt
Dacthal 75W		\$16.00 /lb	16 oz	1.00 /oz
Define		21.00 /lb	16 oz	1.31 /oz
Degree		48.00 /gal	4 qt	12.00 /qt
Degree Xtra		35.00 /gal	4 qt	8.75 /qt
Dimension		128.00 /gal	8 pt	16.00 /pt
Distinct		45.00 /lb	16 oz	2.81 /oz
Diuron		4.20 /lb	1 lb	4.20 /lb
Domain		13.80 /lb	16 oz	0.86 /oz
Double Play		37.00 /gal	8 pt	4.63 /pt
Dual II Magnum		121.00 /gal	8 pt	15.13 /pt
Epic		39.00 /lb 1.10 /lb	16 oz 1 lb	2.44 /oz 1.10 /lb
Eptam 20 G Eptam 7 E		37.60 /gal	8 pt	4.70 /pt
Eradicane		29.00 /gal	8 pt	3.63 /pt
Escort XP		21.60 /oz	1 oz	21.60 /oz
Evik		7.10 /lb	1 lb	7.10 /lb
				

2000 o. op 244geto			Budget
Item	Price Quote	Conversion	Price/unit
Herbicide			
Exceed	12.40 /oz	1 oz	12.40 /oz
Express	19.50 /oz	1 oz	19.50 /oz
Express XP	20.30 /oz	1 oz	20.30 /oz
Extreme	34.00 /gal	8 pt	4.25 /pt
Fallow Master Broad Spectrum	23.00 /gal	8 pt	2.88 /pt
Fieldmaster Finesse	29.60 /gal	4 qt	7.40 /qt
First Rate	15.50 /oz 29.40 /oz	1 oz 1 oz	15.50 /oz 29.40 /oz
Five Star	26.00 /gal	4 qt	6.50 /qt
Flexstar	113.00 /gal	8 pt	14.13 /pt
Frontier	95.00 /gal	8 pt	11.88 /pt
Fultime	32.00 /gal	4 qt	8.00 /gt
Fusilade DX	157.00 /gal	8 pt	19.63 /pt
Fusion	166.00 /gal	128 oz	1.30 /oz
Gangster	592.00 unit	120 02	592 unit
Garlon 3 lb A	79.00 /gal	8 pt	9.88 /pt
Garlon 4 lb E	103.00 /gal	8 pt	12.88 /pt
Gauntlet	3.20 /oz	1 oz	3.20 /oz
Glean	17.00 /oz	1 oz	17.00 /oz
Glyphosate w/Surf	13.44 /gal	128 oz	0.11 /oz
G-Max Lite	62.00 /gal	4 qt	15.50 /qt
Goal 2XL	100.00 /gal	8 pt	12.50 /pt
Gramoxone Inteon	40.20 /gal	8 pt	5.03 /pt
Grazon P+D	33.00 /gal	4 qt	8.25 /qt
Guardsman	42.00 /gal	8 pt	5.25 /pt
Guardsman MAX	48.00 /gal	4 qt	12.00 /qt
Harmony GT	13.00 /gal	8 pt	1.63 /pt
Harmony Xtra	14.00 /oz	1 oz	14.00 /oz
Harness	88.00 /gal	8 pt	11.00 /pt
Harness 20G	2.50 /gal	1 gal	2.50 /gal
Harness Xtra 5.6L	42.00 /gal	4 qt	10.50 /qt
Harness Xtra 6L	55.00 /gal	4 qt	13.75 /qt
Hi-Dep	21.00 /gal	8 pt	2.63 /pt
Hoelon	75.00 /gal 53.00 /lb	8 pt	9.38 /pt
Hornet Hornet WDG	59.00 /lb	16 oz 16 oz	3.31 /oz 3.69 /oz
Hyvar XL	70.00 /gal	8 pt	8.75 /pt
Karmex 80W	4.40 /lb	1 lb	4.40 /lb
Kerb	54.00 /lb	16 oz	3.38 /oz
Keystone	40.00 /gal	8 pt	5.00 /pt
Keystone LA	48.00 /gal	8 pt	6.00 /pt
Krenite	\$60.00 /gal	8 pt	7.50 /pt
Krovar	12.80 /lb	1 lb	12.80 /lb
Laddok S-12	49.00 /gal	8 pt	6.13 /pt
Landmaster BW	15.40 /gal	128 oz	0.12 /oz
Lariat	22.00 /gal	4 qt	5.50 /qt
Lasso	23.80 /gal	4 qt	5.95 /qt
Leadoff	40.00 /gal	8 pt	5.00 /pt
Liberty	71.00 /gal	8 pt	8.88 /pt
Liberty ATZ	56.00 /gal	8 pt	7.00 /pt
Lightning	13.00 /oz	1 oz	13.00 /oz
Lumax	50.00 /gal	8 pt	6.25 /pt
Marksman	34.00 /gal	8 pt	4.25 /pt
Matrix	14.00 /oz	1 oz	14.00 /oz
Maverick	16.00 /oz	1 oz	16.00 /oz
MCPA	17.50 /gal	4 qt	4.38 /qt
Micro-Tech	26.00 /gal	4 qt	6.50 /qt
MSO Northeter	12.40 /gal	8 pt	1.55 /pt
Northstar Nortron SC	2.10 /oz 124.00 /gal	1 oz	2.10 /oz 15.50 /pt
Outlaw	30.60 /gal	8 pt 4 qt	7.65 /qt
Juliaw	55.55 /gai	7 Yı	7.00 /41

	Frices Osed for 2000 Crop Budgets			Budget
Item		Price Quote	Conversion	Price/unit
Herbicide				
NIS	Surfactant/Nonionic 90%	16.60 /gal	128 oz	0.13 /oz
Outlook		161.00 /gal	8 pt	20.13 /pt
Paramount		50.00 /gal	128 oz	0.39 /oz
Peak		12.00 /oz	1 oz	12.00 /oz
Permit		17.20 /oz	1 oz	17.20 /oz
Phoenix		160.00 /gal	128 oz	1.25 /oz
Poast		72.50 /gal	128 oz	0.57 /oz
Poast Plus		54.60 /gal	8 pt	6.83 /pt
Pramitol 25E Pramitol SP 5 PS		30.50 /gal 2.20 /lb	4 qt 1 lb	7.63 /qt 2.20 /lb
Princep 4L		19.00 /gal	4 qt	4.75 /qt
Princep Cal 90		4.20 /lb	1 lb	4.73 /qt 4.20 /lb
Progress		120.00 /gal	8 pt	15.00 /pt
Prowl	3.3EC	24.00 /gal	8 oz	3.00 /oz
Prowl H2O	0.020	32.00 /gal	128 oz	0.25 /oz
Pursuit DG		12.60 /oz	1 oz	12.60 /oz
Pursuit Plus		54.00 /gal	8 pt	6.75 /pt
Python WDG		10.30 /oz	1 oz	10.30 /oz
Raptor		580.00 /gal	128 oz	4.53 /oz
Rave		1.50 /oz	1 oz	1.50 /oz
Ready Master ATZ		17.00 /gal	4 qt	4.25 /qt
Redeem R&P		100.00 /gal	8 pt	12.50 /pt
Reflex		104.00 /gal	8 pt	13.00 /pt
Remedy		100.00 /gal	8 pt	12.50 /pt
Remedy RTU		40.00 /gal	8 pt	5.00 /pt
Resource		180.00 /gal	128 oz	1.41 /oz
Result		54.00 /gal	8 pt	6.75 /pt
Rodeo Ro-Neet 6E		50.00 /gal 64.70 /gal	8 pt 128 oz	6.25 /pt 0.51 /oz
Ro-Neet 7E		66.00 /gal	128 oz	0.51 /oz
Roundup Original		45.00 /gal	8 pt	5.63 /pt
Roundup Ultra Rt		23.50 /gal	8 pt	2.94 /pt
Roundup UltraMax		57.00 /gal	128 oz	0.45 /oz
Roundup Weather Max	(62.00 /gal	8 pt	7.75 /pt
RT Master		19.00 /gal	8 pt	2.38 /pt
Sahara		10.70 /lb	1 lb	10.70 /lb
Sceptor 70 DG ECO		50.00 /lb	16 oz	3.13 /oz
Select Max	2EC	133.00 /gal	128 oz	1.04 /oz
Sencor DF		22.00 /lb	16 oz	1.38 /oz
Sinbar 80W		33.00 /lb	1 lb	33.00 /lb
Sonalan		27.90 /gal	8 pt	3.49 /pt
Sonalan 10G Sonalan HFP		\$1.70 /lb 30.00 /gal	1 lb	1.70 /lb
Spartan 7F DF		48.00 /lb	8 pt 16 oz	3.75 /pt 3.00 /oz
Spike 20P		11.00 /lb	16 oz	0.69 /oz
Spirit		11.00 /oz	1 oz	11.00 /oz
Squadron		40.42 /gal	4 qt	10.11 /gt
Starane		110.00 /gal	8 pt	13.75 /pt
Starane + Salvo		46.00 /gal	8 pt	5.75 /pt
Steadfast		23.00 /oz	1 oz	23.00 /oz
Steel		30.00 /gal	8 pt	3.75 /pt
Stellar		220.00 /gal	128 oz	1.72 /oz
Stinger		136.00 /qt	2 pt	68.00 /pt
Storm		90.00 /gal	8 pt	11.25 /pt
Surflan AS		73.00 /gal	8 pt	9.13 /pt
Surpass		82.00 /gal	8 pt	10.25 /pt
Surpass	CTC CTC	82.00 /gal	8 pt	10.25 /pt
Synchrony Telar	STS	10.80 /oz	1 oz	10.80 /oz
Telar Topnotch		23.00 /oz 39.00 /gal	1 oz 4 qt	23.00 /oz 9.75 /qt
Tordon 22K		100.00 /gal	4 qt 8 pt	12.50 /pt
1010011 2211		.00.00 /gai	o pr	12.50 /pt

	·	· ·		Budget
Item		Price Quote	Conversion	Price/unit
Herbicide				
Tordon RTU		35.00 /gal	4 qt	8.75 /qt
Touchdown IQ		26.00 /gal	128 oz	0.20 /oz
Transline		370.00 /gal	128 oz	2.89 /oz
Treflan		30.00 /gal	8 pt	3.75 /pt
Treflan HFP		30.00 /gal	8 pt	3.75 /pt
Trifluralin		19.50 /gal	4 qt	4.88 /qt
Ultra Blazer		67.00 /gal	8 pt	8.38 /pt
Upbeet Valor		52.00 /oz 70.00 /lb	1 oz 16 oz	52.00 /oz 4.38 /oz
Valor Velpar DF		24.00 /lb	16 oz	4.36 /02 1.50 /oz
Velpar L		64.00 /gal	128 oz	0.50 /oz
Veipai L Vista		92.00 /gal	8 pt	11.50 /pt
Yukon		2.60 /oz	1 oz	2.60 /oz
Zorial Rapid 80		16.00 /lb	1 lb	16.00 /lb
Insecticide		10.00 /10	. 15	10.00 /10
Asana XL		93.00 /gal	128 oz	0.73 /oz
Capture 2 EC		222.19 /gal	128 oz	1.74 /oz
Counter 15G		1.75 /lb	1 lb	1.75 /lb
Lorsban 15 G		2.00 /lb	1 lb	2.00 /lb
Lorsban 4 E	chlorpyrifos	23.40 /gal	8 pt	2.93 /pt
Mustang Max		219.00 /gal	128 oz	1.71 /oz
Regent 4 SC		442.88 /gal	128 oz	3.46 /oz
Telone Nemat		12.95 /gal	1 gal	12.95 /gal
Warrior T		222.22 /gal	128 oz	1.74 /oz
Other				
Elec Connect fees		2.70 /ac	1 ac	2.70 /ac
Electricity fence/wate	r	1.76 /ac	1 ac	1.76 /ac
Fence/water repairs		1.76 /ac	1 ac	1.76 /ac
Move Cattle		8.75 /hr	1 hr	8.75 /hr
Rouging Twine Lg Rd		20.00 /ac 21.49 /ball	1 ac 44 bale	20.00 /ac 0.49 /bale
Twine Lg Sq		20.99 /box	50 bale	0.49 /bale 0.42 /bale
Twine Sm Sq		\$20.99 /box	600 bale	0.42 /bale 0.03 /bale
Water Charge		25.00 /ac	1 ac	25.00 /ac
Weeding/Thinning		30.00 /ac	1 ac	30.00 /ac
Rental				
Broadcast Fertilizer S	Spreader	2.75 /ac	1 ac	2.75 /ac
Grass Drill		6.00 /ac	1 ac	6.00 /ac
Seeder-Packer		7.00 /ac	1 ac	7.00 /ac
Seed				
Alfalfa w/Inoculant		3.78 /lb	1 lb	3.78 /lb
Corn	incl seed trt @ \$15/bag	127.50 /bag	1 bag	127.50 /bag
Corn Bt ECB	incl seed trt @ \$15/bag	155.00 /bag	1 bag	155.00 /bag
Corn Bt ECB&RW	incl seed trt @ \$15/bag	158.00 /bag	1 bag	158.00 /bag
Corn RR	incl seed trt @ \$15/bag	154.00 /bag	1 bag	139.00 /bag
Corn RR&Bt ECB Corn Triple Stack	incl seed trt @ \$15/bag incl seed trt @ \$15/bag	194.00 /bag 205.00 /bag	1 bag	194.00 /bag 205.00 /bag
Edible Beans	inci seed iit @ \$15/bag	40.00 /ac	1 bag 1 ac	40.00 /bag
Grass Seed		1.43 /lb	1 lb	1.43 /lb
Millet		0.40 /lb	1 lb	0.40 /lb
Oats		5.50 /bu	1 bu	5.50 /bu
RR Soybeans		28.00 /bag	1 bag	28.00 /bag
Sorghum		59.00 /bag	50 lb	1.18 /lb
Sorghum Safened		63.00 /bag	50 lb	1.26 /lb
Sorghum Sudan		30.00 /bag	50 lb	0.60 /lb
Soybean		20.00 /bag	1 bag	20.00 /bag
Sugar Beets		50.00 /ac	1 ac	50.00 /ac
Sunflower		145.00 /bag	67 lb	2.18 /lb
Wheat		8.00 /bag	50 lb	0.16 /lb

University of Nebraska Crop Budget Production Cost Summary 2006

					Mach &	Manage-	Mach-			
				Cash Op	Irrig	ment	inery			
				Costs incl	System	&Over-	&lrrig		Estab	Total
Crop	Descript	ion	Yield	Op Interest	Deprec	heads	THII*	Land	Costs	Costs/ac
1 Alfalfa	Dryland	Fall establish		\$84.19	\$5.43	\$4.05	\$6.84			\$100.49
2 Alfalfa	Dryland	Estab spring seed w/herb	2.3 Ton	153.34	13.97	18.65	17.51	55.00		258.48
3 Alfalfa	Pivot	Estab spring seed w/herb	3 Ton	206.71	43.82	24.64	34.72	110.00		419.88
4 Alfalfa	Canal	Estab with oats	2 Ton	167.52	19.66	20.89	20.47	110.00		338.55
5 Alfalfa	Dryland	Large Round	4 Ton	45.04	28.72	25.26	28.93	55.00	20.10	203.05
6 Alfalfa	Pivot	Large & Sm Square	6 Ton	147.83	60.48	41.38	56.35	110.00	20.10	436.14
7 Alfalfa	Canal	Large Square	6 Ton	213.48	30.01	41.38	29.21	110.00	20.10	444.17
8 Annual Hay	Dryland	Annually Planted, Large Round	3 Ton	53.28	16.87	14.82	17.14	55.00		157.11
9 Corn	Dryland	Conventional, Continuous, 85 bu yield	80 Bu	172.59	23.39	21.19	18.42	55.00		290.59
10 Corn	Dryland	Notill, RR&Bt RW&ECB, Continuous, 100 bu yield goal	95 Bu	202.24	16.66	24.03	11.95	55.00		309.88
11 Corn	Dryland	Notill, Bt ECB, After Soybean, 110 bu Yld goal	100 Bu	162.62	16.77	24.98	12.08	55.00		271.45
12 Corn	Dryland	EcoFallow ff Wheat,2 Crops in 3Yr,RR&Bt ECB,85 bu yld goal	80 Bu	181.17	16.96	21.19	12.48	45.00		276.80
13 Corn	Gravity	Ridge till, Bt ECB&RW, Continuous, 195 bu yield goal	180 Bu	323.16	41.29	50.68	27.88	100.00		543.02
14 Corn	Pivot	Notill, Bt ECB&RW, Continuous, 195 bu yield goal	180 Bu	301.11	41.19	55.15	30.77	110.00		538.21
15 Corn	Pivot	Bt ECB&RW, Continuous, 190 bu yield goal	175 Bu	329.11	54.24	44.20	35.82	110.00		573.37
16 Corn	Pivot	Notill, Bt ECB, after beans, 205 bu yield goal	190 Bu	282.19	41.02	50.61	31.05	110.00		514.88
17 Corn Silage	Pivot	Notill following corn, 195 bu yield goal	24 Ton	427.53	29.81	42.90	19.90	110.00		630.14
18 Dry Beans	Pivot	Conventional with wheat cover crop	19 Cwt	158.11	34.54	38.20	33.01	110.00		373.86
19 G Sorghum	Dryland	Conventional 90 bu yield goal	80 Bu	113.33	18.95	20.65	15.12	55.00		223.06
20 G Sorghum	Dryland	NoTill 115 bu yield goal	105 Bu	133.41	13.68	22.91	10.41	55.00		235.41

^{*} THII = Taxes, Housing, Interest, Insurance

University of Nebraska Crop Budget Production Cost Summary 2006

				Cash Op Costs incl	Mach & Irrig System	Manage- ment &Over-	Mach- inery &Irrig		Estab	Total
Crop	Descript	tion	Yield	Op Interest	Deprec	heads	THII*	Land	Costs	Costs/ac
21 G Sorghum	Dryland	Ecofallow, After Wheat, 2 Crops in 3 Yr, 100 bu yield goal	90 Bu	142.32	13.74	21.36	11.04	45.00		233.45
22 G Sorghum 23 Grass	Pivot Pivot	Notill, Limited Irrigation 155 bu yield goal Fall Estab	140 Bu	163.29 133.56	28.59 8.83	30.88 21.00	27.28 20.30	110.00		360.04 183.69
24 Grass Hay	Dryland	Large Round	2 Ton	13.37	9.25	10.82	9.28	30.00		72.72
25 Oats	Dryland	Notill, 90 Bu Yield Goal	80 Bu	100.86	18.14	17.44	15.32	55.00		206.75
26 Pasture	Pivot	Grazing	10 AUM	196.34	36.81	21.82		110.00	1.56	381.40
27 Millet	Dryland	Stubble Mulch Fallow,ff Wheat,2 Crops in 3 Yr, 22 cwt yld goal	20 Cwt	57.21	20.31	12.02	17.29	45.00		151.83
28 Soybeans	Dryland	Tilled seed bed, Roundup Ready	35 Bu	72.81	17.37	22.09	12.68	55.00		179.94
29 Soybeans	Dryland	Notill, Roundup Ready After Corn	40 Bu	62.94	14.35	24.39	10.28	55.00		166.96
30 Soybeans	Pivot	Tilled seedbed, Roundup Ready After	55 Bu	115.43	35.77	31.28		110.00		320.02
31 Soybeans	Gravity	Ridgetill, RR After RR Corn	55 Bu	98.36	23.71	31.01		100.00		274.18
32 Soybeans	Pivot	Notill Narrow Row, Roundup Ready After Corn	58 Bu	108.01	27.76	32.65	26.31	110.00		304.74
33 Soybeans	Pivot	Notill Drilled, Roundup Ready After Corn	58 Bu	106.62	26.47	32.65		110.00		301.23
34 Sugar Beets	Canal	One Pass Tillage	20 Tons	470.72	29.08	80.62		110.00		718.36
35 Sugar Beets	Pivot	One Pass Tillage	20 Tons	474.40	44.45	80.62	42.23			751.69
36 Sunflower	Dryland	Notill, Following Corn or Grain Sorghum	13 Cwt	81.05	12.63	13.34	9.41	30.00		146.43
37 Sunflower	Dryland	Ecofallow, After Wheat, 2 Crops in 3 Yr	15 Cwt	94.46	12.97	14.62	9.85	45.00		176.91
38 Wheat	Dryland	Notill After Row Crop, 40 bu Yield Goal	35 Bu	86.74	12.22	12.98	9.43	55.00		176.37
39 Wheat	Dryland	Stubble Mulch Fallow, 1 Crop in 2 Yr, 48 bu Yield Goal	45 Bu	82.52	17.73	15.54	16.24	60.00		192.02
40 Wheat	Dryland	Cleantill Fallow, 1 Crop in 2 Yr, 44 bu Yield Goal	40 Bu	71.48	17.79	14.26	15.83	60.00		179.36
41 Wheat	Dryland	Notill Wheat before corn, 2 Crops in 3 Yr, 60 bu Yield Goal	55 Bu	100.20	13.21	18.10	10.80	45.00		187.30
42 Wheat	Pivot	Notill, After beans, 88 bu Yield Goal	80 Bu	191.01	28.58	27.50	24.30	110.00		381.39

^{*} THII = Taxes, Housing, Interest, Insurance

Crop Budgets Table of Contents

Crop	Description								
Alfalfa	Dryland	Fall establish	1						
Alfalfa	Dryland	Estab spring seed w/herb	2						
Alfalfa	Pivot	Estab spring seed w/herb	3						
Alfalfa	Canal	Estab with oats	4						
Alfalfa	Dryland	Large Round	5						
Alfalfa	Pivot	Large & Sm Square	6						
Alfalfa	Canal	Large Square	7						
Annual Hay	Dryland	Annually Planted, Large Round	8						
Corn	Dryland	Conventional, Continuous, 85 bu yield goal	9						
Corn	Dryland	Notill, RR&Bt RW&ECB, Continuous, 100 bu yield goal	10						
Corn	Dryland	Notill, Bt ECB, After Soybean, 110 bu Yld goal	11						
Corn	Dryland	EcoFallow ff Wheat,2 Crops in 3Yr,RR&Bt ECB,85 bu yld goal	12						
Corn	Gravity	Ridge till, Bt ECB&RW, Continuous, 195 bu yield goal	13						
Corn	Pivot	Notill, Bt ECB&RW, Continuous, 195 bu yield goal	14						
Corn	Pivot	Bt ECB&RW, Continuous, 190 bu yield goal	15						
Corn	Pivot	Notill, Bt ECB, after beans, 205 bu yield goal	16						
Corn Silage	Pivot	Notill following corn, 195 bu yield goal	17						
Dry Beans	Pivot	Conventional with wheat cover crop	18						
G Sorghum	Dryland	Conventional 90 bu yield goal	19						
G Sorghum	Dryland	NoTill 115 bu yield goal	20						
G Sorghum	Dryland	Ecofallow, After Wheat, 2 Crops in 3 Yr, 100 bu yield goal	21						
G Sorghum	Pivot	Notill, Limited Irrigation 155 bu yield goal	22						
Grass	Pivot	Fall Estab	23						
Grass Hay	Dryland	Large Round	24						
Oats	Dryland	Notill, 90 Bu YieldGoal	25						
Pasture	Pivot	Grazing	26						
Millet	Dryland	Stubble Mulch Fallow,ff Wheat,2 Crops in 3 Yr, 22 cwt yld goal	27						
Soybeans	Dryland	Tilled seed bed, Roundup Ready	28						
Soybeans	Dryland	Notill, Roundup Ready After Corn	29						
Soybeans	Pivot	Tilled seedbed, Roundup Ready After Corn	30						
Soybeans	Gravity	Ridgetill, RR After RR Corn	31						
Soybeans	Pivot	Notill Narrow Row, Roundup Ready After Corn	32						
Soybeans	Pivot	Notill Drilled, Roundup Ready After Corn	33						
Sugar Beets	Canal	One Pass Tillage	34						
Sugar Beets	Pivot	One Pass Tillage	35						
Sunflower	Dryland	Notill, Following Corn or Grain Sorghum	36						
Sunflower	Dryland	Ecofallow, After Wheat, 2 Crops in 3 Yr	37						
Wheat	Dryland	Notill After Row Crop, 40 bu Yield Goal	38						
Wheat	Dryland	Stubble Mulch Fallow, 1 Crop in 2 Yr, 48 bu Yield Goal	39						
Wheat	Dryland	Cleantill Fallow, 1 Crop in 2 Yr, 44 bu Yield Goal	40						
Wheat	Dryland	Notill Wheat before corn, 2 Crops in 3 Yr, 60 bu Yield Goal	41						
Wheat	Pivot	Notill, After beans, 88 bu Yield Goal	42						

1

	Times or		+Fuel&	Pone	iro	Doni	•••		Your
Field energtions		Labor	Lube	Repa +Pwr		Depi +Pwr		-Total	Estimate
Field operations	Qty	\$0.78	\$0.55	\$0.46	+lmp	\$0.04	+lmp	\$1.83	Estimate
1 Spread,Fert. 2 Disc	1 ac				Incl		Incl	\$5.24	
3 Harrow	1 ac	\$1.00 \$0.59	\$1.52 \$0.22	\$0.16 \$0.43	\$0.83 \$0.08	\$0.88	\$0.85 \$0.28	\$5.24 \$1.64	
	1 ac	\$0.59 \$0.59	\$0.22 \$0.22	\$0.43 \$0.43		\$0.04	\$0.28	\$1.64 \$1.64	
4 Harrow 5 Roll	1 ac			\$0.43 \$1.05	\$0.08 \$0.30	\$0.04	\$0.26 \$1.81		
6 Drill	1 ac	\$1.10	\$1.10			\$0.09		\$5.46	
· -····	1 ac	\$1.49	\$1.36	\$1.31	\$0.84	\$0.12	\$0.87	\$5.99	
7 Spray	ac 0 5 ac	ድር ጋር	<u></u>	¢0.45		<u></u>	CO 11	¢0.75	
8 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
Total for Field operation	ns	\$5.80	\$5.09	\$3.99	\$2.26	\$1.22	\$4.20	\$22.55	
Wage \$10.0	0 /hr Elec	\$0.05 /	'kwh						
Diesel \$2.0	0 /gal	If drop ti	llage oper	ations (2	-5), may	need to	spray he	rbicide(7	J
Materials & Services	Ü	Oper .		•	,,			Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
11-52-0	Fertilizer	1	100%	100 I		0.17 /		\$17.00	
Alfalfa w/Inoculant	Seed	6	100%	12 I		3.78 /		\$45.36	
Pursuit DG	Herbicide	7	0%	1.5		12.60 /		Ψ.σ.σσ	
Crop Oil Concentrate	Herbicide	7	0%	2 p		0.60 /			
Lorsban 4 E	Insecticide	8	50%	1 p		2.93 /		\$1.47	
Total Materials & Service			l herbicide	eg notill	Iff whea	at		\$63.83	
Insecticide applied ff sp									
Total listed costs for Fi	eld Operations	s and Mate	erials & Se	rvices				\$86.37	
Interest on op.capit	al \$8 ²	1 cash exp	ense @		6.0%	8 r	no	3.24	
Total Operating Costs a	and Use Relate	ed Depreci	iation					\$89.61	
		•							
Overheads including	g accounting, lia	ability insu	rance, vehi	cle cost,	office exp	oense		4.05	
Management including								0.00	
Machinery taxes, housi				\$105 /	acre @	D)	6.5%	6.84	
•									
Land real estate taxes a	and interest			\$0 /	acre	á	acres		
T. 10								0400 40	
Total Costs including o	verneads	Note: La	nd charge	s to prev	ious cro	op		\$100.49	
Revenue									
Value of Production	n	Ton	Alfal	fa @ \$_	/	/Ton			
Б Б ;	-			@_\$_	/	/ //	0.50/		
Program Payment Total Revenue	base	×	Bu HWY @	_	/	/bu x	85%		

Net Revenue = Total Revenue - Total Costs including overheads =

Estab spring seed w/her 2.3 Ton/ac Alfalfa	'b							Year	2006
2.3 Toll/ac Allalia	Times or		+Fuel&	Repa	irs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	dml+	=Total	Estimate
1 Spread,Fert.	1 ac	\$0.78	\$0.55	\$0.46	Incl	\$0.04	Incl	\$1.83	
2 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
4 Seeder/Packer	1 ac	\$2.22	\$1.75	\$1.49	Rent	\$0.13	Rent	\$5.59	
5 Spray	0.5 ac	\$0.41	\$0.13	\$0.24	\$0.08	\$0.02	\$0.09	\$0.96	
6 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
7 Swath/Cond Hay	2 ac	\$2.46	\$2.50	\$1.64	\$2.10	\$0.87	\$2.37	\$11.94	
8 Turn Windrows	0.5 ac	\$0.44	\$0.17	\$0.33	\$0.04	\$0.03	\$0.32	\$1.32	
9 Sm Sq Bale	2.25 ton	\$5.74	\$2.00	\$3.85	\$2.81	\$0.34	\$5.59	\$20.34	
10 Stack Sm Sq	2.25 ton	\$7.20	\$2.32	\$4.46	\$0.63	\$0.40	\$0.87	\$15.87	
Total for Field operation	s	\$21.56	\$11.96	\$13.18	\$7.12	\$3.20	\$10.77	\$67.78	
Wage \$10.00		\$0.05 /	-	Ψ.σσ	¥=	40.20	Ψ.σ	***	
Diesel \$2.00		ψ0.007							
Materials & Services	, , gai	Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
11-52-0	Fertilizer	1	100%	100 I		0.17		\$17.00	
Seeder-Packer	Rental	4	100%	1 6		7.00		\$7.00	
Alfalfa w/Inoculant	Seed	4	100%	12		3.78		\$45.36	
Lorsban 4 E	Insecticide	5	50%	1 p		2.93		\$1.47	
Pursuit DG	Herbicide	6	100%	1.5		12.60		\$18.90	
Crop Oil Concentrate	Herbicide	6	100%	2 p		0.60		\$1.20	
Twine Sm Sq	Other	9	100%	90 k		0.03		\$2.70	
r wille oill oq	Otrici	J	10070	00 k	Jaic	0.00	baic	Ψ2.70	
Total Materials & Service	es Insect	icide for p	potato lea	f hoppers	3			\$93.63	
Total listed costs for Fie	eld Operations	and Mate	erials & Se	rvices				\$161.41	
Interest on op.capita	-	cash exp			6.0%	8	mo	5.90	
Total Operating Costs a			_					\$167.31	
Overheads including	accounting, lia	ability incu	rance vobi	icle cost	office over	nenec		7.37	
· ·				CIE COSI, I	Jilice ext	Jense		11.28	
Management including s				# 260 /		-	C E0/		
Machinery taxes, housing	ig, insurance	& interest		\$269 /	acre @	<u>v</u>	6.5%	17.51	
Land real estate taxes a	nd interest			\$55 /	acre	1.00	acres	55.00	
Total Costs including ov	verheads							\$258.48	
Revenue									
Value of Production	2.25	Ton	Alfal	fa @ \$_	/	Ton			
Program Payment Total Revenue	base x	īE	Bu HWY @	, \$ ^ω Ψ_		bu x	85%		
	evenue = Tota	l Revenue	e - Total Co	sts includ	ing overh	neads =			

12 A	cre-inc	hes
------	---------	-----

Acr	e-inches	Year 2006

Estab spring seed w/ne	erb				12	Acre-inc	nes	Year	2006
3 Ton/ac Alfalfa			. = 10	_		_			
	Times or		+Fuel&	Repa		Dep			Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Spread,Fert.	1 ac	\$0.78	\$0.55	\$0.46	Incl	\$0.04	Incl	\$1.83	
2 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
4 Seeder/Packer	1 ac	\$2.22	\$1.75	\$1.49	Rent	\$0.13	Rent	\$5.59	
5 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
6 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
7 PivotD125'Lift	12 AI	\$4.00	\$49.87	\$4.04	\$3.77	\$8.20	\$16.35	\$86.22	
8 Swath/Cond Hay	2 ac	\$2.46	\$2.50	\$1.64	\$2.10	\$0.87	\$2.37	\$11.94	
9 Turn Windrows	0.5 ac	\$0.44	\$0.17	\$0.33	\$0.04	\$0.03	\$0.32	\$1.32	
10 Lg Sq Bale	3 ton	\$2.04	\$2.31	\$0.36	\$2.22	\$2.16	\$4.34	\$13.43	
11 Load Lg Sq	3 ton	\$3.60	\$2.64	\$0.57	\$0.15	\$3.51	\$2.38	\$12.85	
12 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
. ,									
Total for Field operation		\$18.03	\$62.54	\$9.71	\$10.08	\$16.31	\$27.52	\$144.18	
Wage \$10.0		\$0.05 /	′kwh						
	0 /gal								
Materials & Services		Oper						Total	
Item		#	Acres x	Quantit	ty/ac x	Price\$	/unit =	\$/acre	
11-52-0	Fertilizer	1	100%	100	lb	0.17	/lb	\$17.00	
Seeder-Packer	Rental	4	100%		ac	7.00		\$7.00	
Alfalfa w/Inoculant	Seed	4	100%	12		3.78		\$45.36	
Lorsban 4 E	Insecticide	5	50%		pt	2.93	•	\$1.47	
Pursuit DG	Herbicide	6	100%	1.5		12.60		\$18.90	
Crop Oil Concentrate	Herbicide	6	100%	2	pt	0.60	/pt	\$1.20	
Elec Connect fees	Other	7	100%	1	ac	2.70		\$2.70	
Twine Lg Sq	Other	10	100%		bale	0.42		\$1.85	
Lorsban 4 E	Insecticide	12	100%	1	pt	2.93	/pt	\$2.93	
Total Materials 0.0 and	N	- 1	4		0/ 400			¢00.40	
Total Materials & Service		Elec conr	nect fee 6	mo @\$6	0/mo 133	acres		\$98.40	
Insecticide for potato le									
Total listed costs for Fi	•			rvices				\$242.58	
Interest on op.capit		cash exp			6.0%	8	mo	7.95	
Total Operating Costs a	and Use Relate	d Deprec	iation					\$250.53	
Overheede including	a accounting lig	hility in a	ranga wahi	ala aaat	office over			0.04	
	g accounting, lia			cie cost,	onice ex	bense		9.94	
Management including				000=	,	_	0.50/	14.70	
Machinery taxes, housi			ľ	\$305		2)	6.5%	19.85	
Irrigation system taxes		nterest		\$248	•	0	6.0%	14.87	
Land real estate taxes a				\$110	/acre	1.00	acres	110.00	
	erest and depre	eciation o	n well						
Total Costs including o	verheads							\$419.88	
Revenue									
Value of Production	1 3	Ton	Alfal	fa @ \$		/Ton			
		- ' - ' '	,	~ @ \$ ⁻		1			
Program Payment	base x	E	Bu HWY @			/bu x	85%		
Total Revenue			T			,			
Net F	Revenue = Tota	ı Revenue	e - Total Co	sts includ	aing over	neads =			

Alfalfa Cana Estab with oats	I Irrigated				18 /	Acre-inc	hes	Year	2006 4
2 Ton/ac Alfalfa	0.	.75 ton/ac O	ats hay						
	Times o	r	+Fuel&	Repa	airs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
2 Spread, Fert.	1 ac	\$0.78	\$0.55	\$0.46	Incl	\$0.04	Incl	\$1.83	
3 Roll	1 ac	\$1.10	\$1.10	\$1.05	\$0.30	\$0.09	\$1.81	\$5.46	
4 Drill	1 ac	\$1.49	\$1.36	\$1.31	\$0.84	\$0.12	\$0.87	\$5.99	
5 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
6 Corrigate	1 ac	\$1.55	\$1.25	\$0.86	\$0.09	\$0.46	\$0.39	\$4.60	
7 Swath/Cond Hay	/ 2 ac	\$2.46	\$2.50	\$1.64	\$2.10	\$0.87	\$2.37	\$11.94	
8 Turn Windrows	0.5 ac	\$0.44	\$0.17	\$0.33	\$0.04	\$0.03	\$0.32	\$1.32	
9 Lg Rd Bale	2.75 ton	\$2.26	\$1.18	\$0.33	\$0.88	\$1.82	\$6.58	\$13.05	
10 Move Lg Rd	2.75 ton	\$2.45	\$1.79	\$0.33	\$0.03	\$1.82	\$0.21	\$6.63	
11 Ditch Irrig	18 AI	\$30.60	* · · · ·	¥ - 1 - 2	40.00	*	***	\$30.60	
		4 5 5 1 5 5						******	
Total for Field operat	tions	\$44.37	\$11.54	\$6.61	\$5.23	\$6.14	\$13.52	\$87.41	
	0.00 /hr Ele c	•		¥ - 1 - 1	***	*****	*	******	
	2.00 /gal	Ψ σ.σσ.							
Materials & Services	•	Oper						Total	
Item		#	Acres x	Quantit	ty/ac y	Price\$	/unit =	\$/acre	
11-52-0	Fertilizer	2	100%	100	-	0.17		\$17.00	
Alfalfa w/Inoculant	Seed	4	100%	12		3.78		\$45.36	
Oats		4	100%	0.5					
	Seed					5.50		\$2.75	
Lorsban 4 E	Insecticide		50%		pt bala	2.93	•	\$1.47	
Twine Lg Rd	Other	9	100%		bale	0.49		\$1.76	
Water Charge	Other	11	100%	1	ac	25.00	/ac	\$25.00	
Total Materials & Ser	vices Inse	ecticide for	potato lea	f hopper:	s			\$93.34	
Total listed costs for	Field Operation	ns and Mate	orials & Sc	rvicas				\$180.75	
Interest on op.ca		61 cash exp		i vices	6.0%	Ω	mo	6.44	
Total Operating Cost					0.070	O	1110	\$187.19	
Total Operating Cost	s allu Use Kela	ated Deprec	iation					φ101.13	
Overbeede inclus	dina accounting	liability inac	ranga wah	iala aaat	office over			0.05	
	ding accounting,	•		icie cost,	onice exp	bense		8.05	
Management includi				0045	,	_	0.50/	12.84	
Machinery taxes, hou	•		t	\$315	-		6.5%	20.47	
Irrigation system tax		& interest			/acre @		6.0%		
Land real estate taxe				\$110	/acre	1.00	acres	110.00	
incl i	nterest and de	preciation o	n well						
Total Costs including	g overheads							\$338.55	
Revenue									
Value of Product	tion	2 Ton	Alfa	lfa @ \$	1	Ton			
		.75 ton	Oats h	nay @ \$		ton			
Program Payme			Bu HWY @			bu x	85%		
Total Revenue			_	_					
	et Revenue = To	otal Revenue	e - Total Co	sts includ	ding overh	neads =			

Large Round								Year	2006
4 Ton/ac Alfalfa				_		_			
	Times or		+Fuel&	Repa		Dep			Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Swath/Cond Hay	4 ac	\$4.92	\$5.00	\$3.28	\$4.20	\$1.73	\$4.75	\$23.88	
2 Turn Windrows	1 ac	\$0.88	\$0.34	\$0.65	\$0.08	\$0.06	\$0.64	\$2.65	
3 Double Windrows	3 ac	\$2.64	\$1.02	\$1.95	\$0.72	\$0.18	\$6.13	\$12.64	
4 Lg Rd Bale	4 ton	\$3.28	\$1.72	\$0.48	\$1.28	\$2.65	\$9.57	\$18.98	
5 Move Lg Rd	4 ton	\$3.56	\$2.60	\$0.48	\$0.04	\$2.65	\$0.31	\$9.64	
6 Spray	0.25 ac	\$0.12	\$0.06	\$0.07	\$0.06	\$0.01	\$0.05	\$0.37	
Total for Field operation	ns	\$15.40	\$10.74	\$6.91	\$6.38	\$7.27	\$21.45	\$68.16	
Wage \$10.0		\$0.05	/kwh						
Diesel \$2.0	0 /gal								
Materials & Services	J	Oper						Total	
Item		. #	Acres x	Quantit	v/ac x	Price\$	/unit =	\$/acre	
Twine Lg Rd	Other	4	100%	5.3 k	-	0.49		\$2.60	
Mustang Max	Insecticide	6	25%	3 (1.71		\$1.28	
Madang Max	moodioido	· ·	2070		<i></i>		702	Ψ1.20	
Total Materials & Service	ces Insec	ticide for	cutworms,	grassho	ppers, a	phids, e	tc	\$3.88	
Total listed costs for Fig	eld Operations	and Mate	erials & Se	rvices				\$72.04	
Interest on op.capit		cash exp			6.0%	8	mo	1.73	
Total Operating Costs a					0.070	O		\$73.77	
Establishment cost/yea		а Боргоо		\$100		5	years	20.10	
	g accounting, lia	ahility incu			office evi		years	6.00	
Management including				icie cost, i	onice ex	pense		19.26	
Machinery taxes, housi				¢44E /	laara 6	a	C E0/		
Machinery taxes, nousi	ng, insurance	& interes	(\$445 /	acre (20	6.5%	28.93	
Land real estate taxes a	and interest			\$55 /	acre acre	1.00	acres	55.00	
Total Costs including o	verheads							\$203.05	
		Note: Se	e Estab b	udget 1					
Revenue		_				_			
Value of Production	14	Ton	Alfal	fa @ \$_	/	/Ton			
Duo augus Decision (. .	D., I NAA.	ੑ <u></u> @\$_	/	/ //a	0.50/		
Program Payment	base >	·	Bu HWY @	} ⊅ _	/	/bu x	85%		
Total Revenue Net R	Revenue = Tota	l Revenue	e - Total Co	sts includ	lina overl	heads =			
					5 5 . 5 . 1				

Net Revenue = Total Revenue - Total Costs including overheads =

Net Revenue = Total Revenue - Total Costs including overheads =

Alfalfa

Canal Irrigated

Year	2006	

3 Ton/ac Annual Hay	/								
	Times or		+Fuel&	Repa	irs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
2 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
4 Drill	1 ac	\$1.49	\$1.36	\$1.31	\$0.84	\$0.12	\$0.87	\$5.99	
5 Swath/Cond Hay	1 ac	\$1.23	\$1.25	\$0.82	\$1.05	\$0.43	\$1.19	\$5.97	
6 Lg Rd Bale	3 ton	\$2.46	\$1.29	\$0.36	\$0.96	\$1.99	\$7.18	\$14.23	
7 Move Lg Rd	3 ton	\$2.67	\$1.95	\$0.36	\$0.03	\$1.99	\$0.23	\$7.23	
Total for Field operation	าร	\$10.17	\$8.39	\$3.57	\$4.34	\$5.89	\$10.98	\$43.34	
Wage \$10.0	0 /hr Elec	\$0.05 /	/kwh						
Diesel \$2.0	0 /gal								
Materials & Services	· ·	Oper						Total	
Item		#	Acres x	Quantit	y/ac x	Price\$/	unit =	\$/acre	
28-0-0	Fertilizer	2	100%	40 I		0.42	lb N	\$16.80	
Sorghum Sudan	Seed	4	100%	10 I	b	0.60	/lb	\$6.00	
Twine Lg Rd	Other	6	100%	4 k	oale	0.49	/bale	\$1.96	
Total Materials & Service	es							\$24.76	
Total listed costs for Fig	eld Operations	and Mate	erials & Se	rvices				\$68.10	
Interest on op.capita		cash exp			6.0%	8	mo	2.05	
Total Operating Costs a	ind Use Relate	d Deprec	iation					\$70.15	
Overheads including	g accounting, lia	ıbility insu	rance vehi	cle cost	office ext	ense		3.00	
Management including				0.0 0001,	omeo exp	701100		11.82	
Machinery taxes, housi				\$264 /	acre @	0	6.5%	17.14	
Land real estate taxes a	and interest			\$55 /	acra	1.00	acres	55.00	
Land Tear estate taxes a	iliu iliterest			Ψ33 7	acre	1.00	acres	33.00	
Total Costs including o	verheads							\$157.11	
Revenue Value of Production	3	Ton	Annual H	lay @ \$_ @ \$	/	Ton			
Program Payment Total Revenue	base x		Bu HWY @			bu x	85%		
	evenue = Tota	l Revenue	e - Total Co	sts includ	ing overh	neads =			

Conventional, Continuous, 85 bu yield goal 80 Bu/ac Corn

80 Bu/ac Com				_		_			
	Times or		+Fuel&	Repa		Dep			Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Chisel	1 ac	\$0.98	\$1.49	\$0.15	\$0.58	\$0.86	\$0.78	\$4.84	
2 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62	
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00	
5 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
6 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
7 Row Crop Cult	0.25 ac	\$0.42	\$0.24	\$0.27	\$0.07	\$0.14	\$0.07	\$1.21	
	0.25 ac	•			\$0.07				
8 Spray		\$0.20	\$0.06	\$0.12	ΦU.U4	\$0.01	\$0.05	\$0.48	
9 Spray	Custom						A	***	
10 Combine dryland	1 ac	\$2.02	\$3.87	\$2.52	\$0.86	\$10.31	\$1.79	\$21.37	
11 Cart	80 bu	\$0.37	\$0.47	\$0.06	\$0.27	\$0.36	\$0.47	\$1.99	
12 Truck	Custom								
13 Dry	Custom								
14 Chop Stalks	1 ac	\$0.88	\$0.93	\$0.12	\$0.25	\$0.66	\$0.61	\$3.45	
		*	,	* -	*	,	,	, -	
Total for Field operation	ne	\$11.08	\$11.55	\$5.33	\$4.13	\$16.03	\$7.37	\$55.48	
	00 /hr Elec	\$0.05 /		ψ0.00	ψ-1.10	ψ10.00	Ψ1.01	ψουτο	
_		φυ.υυ /	KVVII						
	00 /gal	_							
Materials & Services		Oper						Total	
ltem		#	Acres x	Quantit	y/ac x	Price\$/	unit =	\$/acre	
82-0-0	Fertilizer	2	100%	105 I	b N	0.24 /	lb N	\$25.20	
Corn	Seed	4	100%	0.175 l	oad	127.50 /	bag (\$22.31	
Regent 4 SC	Insecticide	4	100%	4.16	•	3.46 /	_	\$14.39	
10-34-0	Fertilizer	4	100%		gal	1.62 /		\$9.72	
		5	100%	2.1				\$23.63	
Bicep II Magnum	Herbicide					11.25 /	•		
Spray	Custom	8	25%	1 8		5.00 /		\$1.25	
Spirit	Herbicide	8	25%	1 (11.00 /		\$2.75	
Crop Oil Concentrate	Herbicide	8	25%	2	ot	0.60 /	'pt	\$0.30	
Spray	Custom	9	50%	1 8	ac	5.00 /	'ac	\$2.50	
Lorsban 15 G	Insecticide	9	10%	5 I	b	2.00 /	Ίb	\$1.00	
Capture 2 EC	Insecticide	9	10%	2.5	oz	1.74 /	oz	\$0.44	
Capture 2 EC	Insecticide	9	10%	5.12		1.74 /		\$0.89	
Mustang Max	Insecticide	9	20%	2 (1.71 /		\$0.68	
Haul Grain bu	Custom	12	100%	80 I		0.10 /		\$8.00	
Dry 4 Points Removed	Custom	13	100%	80 l	ou	0.26 /	bu	\$20.80	
Total Materials & Servi			er acre, 80					\$133.86	
Insecticide for RW,1st	&2nd brood EC	B,spider ı	mites and	W. bean	cutworn	n, respec	tively		
Total listed costs for F	ield Operations	and Mate	erials & Se	rvices				\$189.34	
Interest on op.capi	ital \$166	cash exp	ense @		6.0%	8 r	mo	6.64	
Total Operating Costs								\$195.98	
roum operating roots		а – оргоо						4 100100	
Overheads including	ng accounting, lia	hility incu	ranco vohi	olo cost	office ov	nonce		5.00	
				CIE COSI,	Office ex	pense			
Management including						_		16.19	
Machinery taxes, hous	sing, insurance	& interest	l	\$283 /	acre (@	6.5%	18.42	
Land real estate taxes	and interest			\$55 /	acre/	1.00 a	acres	55.00	
Total Costs including	overheads							\$290.59	
Revenue Value of Productio	n80	Bu	Co	orn @ \$ _		/Bu			
		_				/			
Program Payment	base x	:E	Bu HWY @	\$ _		/bu x	85%		
Total Revenue	_		-						
Net	Revenue = Tota	I Revenue	e - Total Co	sts includ	ling over	neads =			

Corn Dryland Notill, RR&Bt RW&ECB, Continuous, 100 bu yield goal

95 Bu/ac Corn	b, continuous,	ioo bu yii	siu goai					i cai	2000
35 Barac Com	Times or		+Fuel&	Repa	irs	Depi	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
3 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
4 Spray	Custom	70.0	70	40	*****	*****	*****	*	
5 Combine dryland	1 ac	\$2.02	\$3.87	\$2.52	\$0.86	\$10.31	\$1.79	\$21.37	
6 Cart	95 bu	\$0.44	\$0.56	\$0.07	\$0.32	\$0.42	\$0.56	\$2.37	
7 Truck	Custom	·			·				
8 Dry	Custom								
Total for Field operation	ons	\$6.11	\$6.20	\$3.83	\$2.55	\$12.38	\$4.28	\$35.35	
-	00 /hr Elec	\$0.05		70.00	¥=	*	*	, , , , ,	
•	00 /gal	φσ.σσ,							
Materials & Services		Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
28-0-0	Fertilizer	1	100%	120 I	-	0.42 /		\$50.40	
Fieldmaster	Herbicide	1	100%	4 (7.40 /		\$29.60	
Corn Triple Stack	Seed	2	80%	0.22 k	•	205.00 /	•	\$36.08	
Corn	Seed	2	20%	0.22 k	_	127.50 /		\$5.61	
Regent 4 SC	Insecticide	2	20%	4.16		3.46 /	•	\$2.88	
10-34-0	Fertilizer	2	100%	6 (1.62 /		\$9.72	
Glyphosate w/Surf	Herbicide	3	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grade	3	100%	1.7 I		0.23 /	lb	\$0.39	
Spray	Custom	4	32%	1 a	ас	5.00 /	ac	\$1.60	
Lorsban 15 G	Insecticide	4	5%	2 I	b	2.00 /	lb	\$0.20	
Capture 2 EC	Insecticide	4	10%	5.12 (Σ	1.74 /	oz	\$0.89	
Mustang Max	Insecticide	4	20%	2 (Σ	1.71 /	oz	\$0.68	
Haul Grain bu	Custom	7	100%	95 k		0.10 /	bu	\$9.50	
Dry 4 Points Removed	Custom	8	100%	95 k	ou	0.26 /	bu	\$24.70	
Total Materials & Serv	ices 17,10	0 seeds p	er acre, 80	,000 bag	, 20% re	fuge		\$175.77	
Insecticide for RW(ref	uge),1st brood	ECB (10%	of refuge),spider r	nites an	d W. bea	n cutwoi	rm,respec	ctively
Total listed costs for F	ield Operations	and Mate	erials & Se	ervices				\$211.12	
Interest on op.cap	ital \$194	cash exp	ense @		6.0%	8 r	no	7.78	
Total Operating Costs	and Use Relate	d Deprec	iation					\$218.90	
Overheads including	ng accounting, lia	ability insu	rance, vehi	icle cost,	office ex	pense		5.00	
Management including								19.03	
Machinery taxes, hous	sing, insurance	& interest	t	\$184 /	acre (0	6.5%	11.95	
Land real estate taxes	and interest			\$55 /	acre	1.00 a	acres	55.00	
Total Costs including	overheads							\$309.88	
Revenue									
Value of Production	on95	<u>B</u> u	Co	orn @ \$_		/Bu			
Program Payment	base	<u> </u>	Bu HWY @	@_\$ <u>_</u> }_\$		/ /bu x	85%		
Total Revenue				_			-0,0		
Net Revenue = Total Revenue - Total Costs including overheads =									

100 Bu/ac Corn	System, 110 su	i ia goai						i cai	2000
100 Barac Gorn	Times or		+Fuel&	Repa	ire	Depi	roc		Your
Field exerctions		Labar		•				-Total	
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
3 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
4 Spray	0.25 ac	\$0.20	\$0.06	\$0.12	\$0.04	\$0.01	\$0.05	\$0.48	
5 Spray	Custom								
6 Combine dryland	1 ac	\$2.02	\$3.87	\$2.52	\$0.86	\$10.31	\$1.79	\$21.37	
7 Cart	100 bu	\$0.46	\$0.59	\$0.07	\$0.34	\$0.45	\$0.58	\$2.49	
8 Truck	Custom								
9 Dry	Custom								
,									
Total for Field operation	ons	\$6.33	\$6.29	\$3.95	\$2.61	\$12.41	\$4.36	\$35.95	
•	00 /hr Elec	\$0.05 /		,	, -	•	•	,	
•	00 /gal	φο.σο /							
Materials & Services	oo igai	Oper						Total	
Item		#	Acres x	Quantit	w/ac v	Price\$/	unit -	\$/acre	
	E-autilia-au			Quantit					
28-0-0	Fertilizer	1	100%	80 I		0.42 /		\$33.60	
Corn Bt ECB	Seed	2	80%	0.23 l		155.00 /	_	\$28.52	
Corn	Seed	2	20%	0.23 l	•	127.50 /	_	\$5.87	
10-34-0	Fertilizer	2	100%		gal	1.62 /		\$9.72	
Fieldmaster	Herbicide	3	100%	4 (qt	7.40 /	qt	\$29.60	
21-0-0-26s	Spray Grade	3	100%	1.7 l	b	0.23 /	lb	\$0.39	
Spirit	Herbicide	4	25%	1 (Σ	11.00 /	oz	\$2.75	
Crop Oil Concentrate	Herbicide	4	25%	2	ot	0.60 /	pt	\$0.30	
Spray	Custom	5	34%	1 8		5.00 /		\$1.70	
Lorsban 15 G	Insecticide	5	2%	2	b	2.00 /		\$0.08	
Capture 2 EC	Insecticide	5	2%	2.5		1.74 /		\$0.09	
Capture 2 EC	Insecticide	5	10%	5.12		1.74 /		\$0.89	
Mustang Max	Insecticide	5	20%	2 (1.71 /		\$0.68	
Haul Grain bu	Custom	8	100%	100 l		0.10 /		\$10.00	
		9	50%	100 l					
Dry 4 Points Removed	Custom	9	30%	1001	Ju	0.26 /	bu	\$13.00	
Total Matariala 9 Carri	17 000	ooodo n	or ooro 90	000 box	200/ 20	fuac		\$137.19	
Total Materials & Servi			er acre, 80						
Insecticide for 1st&2nd					na vv. be	ean cutw	orm, res		
Total listed costs for F	•			rvices				\$173.14	
Interest on op.cap		cash exp	_		6.0%	8 r	no	6.25	
Total Operating Costs	and Use Relate	d Deprec	iation					\$179.39	
Overheads including	ng accounting, lia	bility insu	rance, vehi	icle cost,	office ex	pense		5.00	
Management including	scouting and o	rop insu	rance					19.98	
Machinery taxes, hous				\$186 /	acre (a	6.5%	12.08	
,,,,	, J			*					
Land real estate taxes	and interest			\$55 /	acre	1.00 a	acres	55.00	
Total Costs including	overheads							\$271.45	
Revenue									
Value of Productio	n 100	Bu	Co	orn @ \$		/Bu			
		•		@ \$- @ \$-		1			
Program Payment	base x	-	Bu HWY @			/bu x	85%		
Total Revenue			_	_					
Net	Revenue = Total	Revenue	e - Total Co	sts includ	ling over	heads =			

80 Bu/ac Corn									
	Times or		+Fuel&	Repa	irs	Depi	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
3 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
4 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
5 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
6 Spray	Custom	Ψ0.01	Ψ0.20	ψυτυ	ψ0.10	ψ0.0-	ψ0.10	Ψ1.00	
7 Combine dryland	1 ac	\$2.02	\$3.87	\$2.52	\$0.86	\$10.31	\$1.79	\$21.37	
8 Cart	80 bu	\$0.37	\$0.47	\$0.06	\$0.27	\$0.36	\$0.47	\$1.99	
9 Truck		φυ.57	φυ.47	φ0.00	φυ.∠1	φ0.50	φυ.47	φ1.99	
	Custom								
10 Dry	Custom								
Total for Field eneration	one	\$7.66	\$6.61	\$4.78	¢2 02	\$12.40	\$4.56	\$38.83	
Total for Field operation		•	•	φ4.70	ΦΖ. ΟΖ	φ12. 4 0	φ4.50	\$30.03	
•	00 /hr Elec	\$0.05 /	KWN						
	00 /gal	_							
Materials & Services		Oper						Total	
Item		#	Acres x	Quantit	y/ac x	Price\$/	unit =	\$/acre	
Glyphosate w/Surf	Herbicide	1	100%	32 (Σ	0.11 /	OZ	\$3.52	
AAtrex 4L	Herbicide	2	100%	1.5 (at	3.25 /	gt	\$4.88	
Glyphosate w/Surf	Herbicide	2	100%	32 (0.11 /		\$3.52	
28-0-0	Fertilizer	3	100%	120 I		0.42 /		\$50.40	
AAtrex 4L	Herbicide	3	100%	0.5		3.25 /		\$1.63	
Balance Pro	Herbicide	3	100%	1.5		7.50 /	•	\$11.25	
10-34-0	Fertilizer	4	100%	6 9		1.62 /		\$9.72	
Corn RR&Bt ECB	Seed	4	80%	0.175 k		194.00 /	_	\$27.16	
		4	20%		_		_		
Corn	Seed			0.175 k	_	127.50 /	_	\$4.46	
Glyphosate w/Surf	Herbicide	5	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grade		10%	1.7 I		0.23 /		\$0.04	
Spray	Custom	6	34%	1 8		5.00 /		\$1.70	
Lorsban 15 G	Insecticide	6	2%	2		2.00 /		\$0.08	
Capture 2 EC	Insecticide	6	2%	2.5 (1.74 /		\$0.09	
Capture 2 EC	Insecticide	6	10%	5.12 (1.74 /		\$0.89	
Mustang Max	Insecticide	6	20%	2 (1.71 /	OZ	\$0.68	
Haul Grain bu	Custom	9	100%	80 k		0.10 /	bu	\$8.00	
Dry 4 Points Removed	Custom	10	100%	80 k	ou	0.26 /	bu	\$20.80	
Total Materials & Serv		0 seeds p						\$152.33	
Insecticide for 1st&2n					nd W. be	ean cutwo	orm,res _i	pectively	
Total listed costs for F	ield Operation	s and Mate	erials & Se	rvices				\$191.16	
Interest on op.cap	ital \$17	4 cash exp	ense @		6.0%	8 r	no	6.97	
Total Operating Costs	and Use Relate	ed Deprec	iation					\$198.13	
Overheads including	ng accounting, li	ability insu	rance, vehi	icle cost.	office ex	pense		5.00	
Management including				,	,			16.19	
Machinery taxes, hous	-	•		\$192 /	acre (a	6.5%	12.48	
, i. i.,	3,			•	•				
Land real estate taxes	and interest			\$30 /	acre	1.50 a	acres	45.00	
Total Costs including	overheads							\$276.80	
Davieniu-									
Revenue	· · · · · · · ·	0 D.:	^			/D			
Value of Production	on <u>8</u>	<u>0</u> Bu	Co	orn @ \$_		/Bu			
Program Payment	base	. .	Bu HWY @	、		/ /bu x	85%		
Total Revenue		^	Julivvi (d	, Ψ _		, bu x	0070		
Net Revenue = Total Revenue - Total Costs including overheads =									
					5 - 5.	-			

18 Acre-inches

Ridge till, Bt ECB&RW,	Continuous, 1	95 bu yiel	d goal		18	Year 2006			
180 Bu/ac Corn	Times or		+Fuel&	Rena	Repairs Deprec				Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	0.2 ac	\$0.16	\$0.05	\$0.10	\$0.03	\$0.01	\$0.04	\$0.39	Lotimato
2 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62	
3 Ridge Plant	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
4 Hoe	0.1 ac	\$0.07	\$0.05	\$0.20	\$0.01	\$0.06	\$0.03	\$0.22	
		\$0.07 \$1.68	\$0.05 \$1.64	\$0.01	\$0.66	\$1.45	\$0.63	\$6.32	
5 Ridge Cult	1 ac								
6 Ridge Cult	1 ac	\$1.68	\$1.64	\$0.26	\$0.66	\$1.45	\$0.63	\$6.32	
7 Spray	Custom	£40.00	650.05	Ф4 OF	£4.00	CO 44	#4.00	¢00.70	
8 Pipe D125'Lift	18 AI	\$18.00	\$52.65	\$4.85	\$1.62	\$9.44	\$4.20	\$90.76	
9 Combine irrig	1 ac	\$2.64	\$5.07	\$3.30	\$0.86		\$1.79	\$27.16	
10 Cart	180 bu	\$0.83	\$1.06	\$0.13	\$0.61	\$0.80	\$1.05	\$4.48	
11 Truck	Custom								
12 Dry	Custom								
13 Chop Stalks	1 ac	\$0.88	\$0.93	\$0.12	\$0.25	\$0.66	\$0.61	\$3.45	
Total for Field operatio	ns	\$29.36	\$65.98	\$9.50	\$6.35	\$30.15	\$11.14	\$152.47	
Wage \$10.0	00 /hr Elec	\$0.05 /	kwh						
Diesel \$2.0	00 /gal	Herbicid	e banded	at plantir	ng				
Materials & Services	· ·	Oper		•	•			Total	
ltem		. #	Acres x	Quantit	v/ac x	Price\$/	/unit =	\$/acre	
2,4-D Ester 4#	Herbicide	1	20%	1.5 p		1.88		\$0.56	
82-0-0	Fertilizer	2	100%	200 [0.24		\$48.00	
10-34-0	Fertilizer	3	100%	6 9		1.62		\$9.72	
Bicep II Magnum	Herbicide	3	40%	2.1		11.25	•	\$9.45	
Corn Bt ECB&RW	Seed	3	80%	0.4 k		158.00		\$50.56	
		3	20%		•	127.50		\$10.20	
Corn	Seed			0.4 k					
Regent 4 SC	Insecticide	3 7	20%	4.16		3.46		\$2.88	
Spray	Custom		32%	1 8		5.00		\$1.60	
Lorsban 15 G	Insecticide	7	2%	5 I		2.00		\$0.20	
Capture 2 EC	Insecticide	7	10%	5.12 (1.74		\$0.89	
Mustang Max	Insecticide	7	20%	2 (1.71		\$0.68	
Haul Grain bu	Custom	11	100%	180 k		0.10		\$18.00	
Dry 4 Points Removed	Custom	12	100%	180 k	DU	0.26	/bu	\$46.80	
Total Materials & Servi	ces 32,000) seeds pe	er acre, 80	,000 bag,	20% re	fuge		\$199.55	
Insecticide for RW(refu	ge),1st brood i	ECB (10%	of refuge	,spider n	nites an	d W. bea	n cutwo	rm,respec	ctively
Total listed costs for Fi								\$352.02	-
Interest on op.capi		cash exp			6.0%		mo	12.43	
Total Operating Costs								\$364.45	

Overheads includin	g accounting, lia	ability insur	ance, vehi	cle cost,	office ex	pense		15.54	
Management including	•	•						35.15	
Machinery taxes, hous	•	•		\$322 /	acre (@	6.5%	20.96	
Irrigation system taxes				\$115 /		<u></u>	6.0%	6.92	
Land real estate taxes				\$100 /		_	acres	100.00	
	erest and depr	eciation o	n well	ψ1007		1.00		.00.00	
Total Costs including of		ciation o	ii weii					\$543.02	
Povenus									
Revenue Value of Production	າ 180) Bu	Cc	orn @ \$		/Bu			
value of a reduction			50	"" @ \$-		/			
Program Payment	base	E	Bu HWY @	. \$ ~ ~ -		/bu x	85%		
Total Revenue			_	_					
Net F	Revenue = Tota	I Revenue	- Total Co	sts includ	ing over	heads =			

	Times or		+Fuel&	Repa	airs	Dep	rec		Your	
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate	
1 Spray	0.2 ac	\$0.16	\$0.05	\$0.10	\$0.03	\$0.01	\$0.04	\$0.39		
2 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62		
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00		
5 Spray	0.25 ac	\$0.12	\$0.06	\$0.07	\$0.06	\$0.01	\$0.05	\$0.37		
6 Spray	Custom	Ψ0.12	Ψ0.00	ψ0.01	ψ0.00	Ψ0.01	ψ0.00	ψ0.01		
7 PivotD125'Lift	9 AI	\$3.00	\$37.40	\$3.03	\$2.83	\$6.15	\$12.26	\$64.67		
8 Combine irrig	1 ac	\$2.64	\$5.07	\$3.30	\$0.86	\$13.50	\$1.79	\$27.16		
9 Cart	180 bu	\$0.83	\$1.06	\$0.13	\$0.61	\$0.80	\$1.05	\$4.48		
10 Truck	Custom	ψ0.00	Ψ1.00	ψ0.10	ψ0.01	ψ0.00	ψ1.00	Ψ+0		
11 Dry	Custom									
11 Diy	Odstom									
Total for Field operation	ons	\$10.45	\$46.40	\$7.36	\$5.78	\$23.12	\$18.06	\$111.19		
	00 /hr Elec	\$0.05 /		,	,	, -	,	•		
	00 /gal	40.00								
Materials & Services		Oper						Total		
Item		#	Acres x	Quantit	v/ac x	Price\$	unit =	\$/acre		
2,4-D Ester 4#	Herbicide	1	20%	1.5		1.88		\$0.56		
82-0-0	Fertilizer	2	100%	210		0.24		\$50.40		
Bicep II Magnum	Herbicide	3	100%	2.1		11.25		\$23.63		
Corn Bt ECB&RW	Seed	4	80%	0.4 1	•	158.00	•	\$50.56		
Corn	Seed	4	20%	0.4 l	•	127.50	•	\$10.20		
Regent 4 SC	Insecticide	4	20%	4.16		3.46	•	\$2.88		
10-34-0	Fertilizer	4	100%		gal	1.62		\$9.72		
Exceed	Herbicide	5	25%	1 (-	12.40		\$3.10		
Crop Oil Concentrate	Herbicide	5	25% 25%	2		0.60		\$0.30		
Spray	Custom	6	32%	1 8		5.00		\$1.60		
Lorsban 15 G	Insecticide	6	2%	5 I		2.00		\$0.20		
Capture 2 EC	Insecticide	6	10%	5.12		1.74		\$0.89		
Mustang Max	Insecticide	6	20%	2 (1.71		\$0.68		
Haul Grain bu	Custom	10	100%	180 l		0.10		\$18.00		
Dry 4 Points Removed	Custom	11	100%	180 l		0.10		\$46.80		
Dry 41 omits removed	Odstom		10070	100 1	ou	0.20	, Du	ψ+0.00		
Total Materials & Servi	ices 32.00	0 seeds p	er acre, 80	.000 bag	. 20% re	fuae		\$219.52		
Insecticide for RW(refu							n cutwo		tively	
Total listed costs for F								\$330.71		
Interest on op.capi	•	cash exp		7 7 1000	6.0%	8	mo	11.58		
Total Operating Costs					0.070	O	1110	\$342.29		
rotal operating cools	una coo molati	a Dopioo	idiloii					Ψ 0 -12.20		
Overheads including	ng accounting, lia	ability insu	rance vehi	cle cost	office ex	pense		20.00		
Management including						p 000		35.15		
Machinery taxes, hous	, .	•		\$245 /	acre (@	6.5%	15.90		
Irrigation system taxes			•	\$248 /		<u></u> 0	6.0%	14.87		
Land real estate taxes		interest		\$110 /		_	acres	110.00		
		ociation o	n wall	φ11U /	acie	1.00	acies	110.00		
	terest and depr	eciation o	n wen					¢520 24		
Total Costs including	Overneaus							\$538.21		
Revenue										
Value of Productio	n 180) Bu	Co	orn @ \$		/Bu				
		_		@ \$ -		/				
Program Payment	base	<u> </u>	Bu HWY @			/bu x	85%			
Total Revenue			T							
Net Revenue = Total Revenue - Total Costs including overheads =										

, , , , ,					13	Acre-inc	hes	Year	2006
175 Bu/ac Corn	T:		ı F 10	Repairs Deprec				V	
Field energtions	Times or	Labar	+Fuel&	-		Dep		-Total	Your
Field operations 1 Disc	Qty	Labor \$1.00	Lube \$1.52	+Pwr \$0.16	+lmp \$0.83	+Pwr \$0.88	+lmp \$0.85	\$5.24	Estimate
2 Anhy Apply	1 ac 1 ac	\$1.00	\$1.62	\$0.10	\$0.60	\$1.23	\$0.59	\$5.62	
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.20	\$0.00	\$0.44	\$0.48	\$2.75	
4 Spray	1 ac	\$0.81	\$0.77	\$0.48	\$0.47	\$0.04	\$0.48	\$1.93	
5 Plant	1 ac	\$1.82	\$0.23	\$0.45	\$0.54	\$1.41	\$2.08	\$7.00	
6 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
7 Row Crop Cult	0.25 ac	\$0.42	\$0.24	\$0.27	\$0.07	\$0.14	\$0.07	\$1.21	
8 Spray	0.25 ac	\$0.20	\$0.06	\$0.12	\$0.04	\$0.01	\$0.05	\$0.48	
9 Spray	Custom	•	·		·			·	
10 PivotD125'Lift	13 AI	\$4.33	\$54.03	\$4.38	\$4.08	\$8.88	\$17.71	\$93.41	
11 Combine irrig	1 ac	\$2.64	\$5.07	\$3.30	\$0.86	\$13.50	\$1.79	\$27.16	
12 Cart	175 bu	\$0.81	\$1.03	\$0.12	\$0.60	\$0.78	\$1.02	\$4.36	
13 Truck	Custom								
14 Dry	Custom								
15 Chop Stalks	1 ac	\$0.88	\$0.93	\$0.12	\$0.25	\$0.66	\$0.61	\$3.45	
Total for Field operatio	ns	\$16.49	\$67.37	\$10.56	\$8.79	\$28.54	\$25.70	\$157.45	
Wage \$10.0	00 /hr Elec	\$0.05 /	/kwh						
Diesel \$2.0	00 /gal								
Materials & Services		Oper						Total	
Item		#	Acres x	Quantit	y/ac x	Price\$	/unit =	\$/acre	
82-0-0	Fertilizer	2	100%	200 I		0.24		\$48.00	
Bicep II Magnum	Herbicide	4	100%	2.1 (•	11.25	•	\$23.63	
10-34-0	Fertilizer	5	100%	6 g		1.62		\$9.72	
Corn Bt ECB&RW	Seed	5	80%	0.39 k		158.00		\$49.30	
Corn	Seed	5	20%	0.39 k		127.50		\$9.95	
Regent 4 SC	Insecticide	5	20%	4.16		3.46		\$2.88	
Exceed	Herbicide	8	25%	1 0		12.40		\$3.10	
Crop Oil Concentrate	Herbicide	8	25%	2 p		0.60		\$0.30	
Spray	Custom	9	32%	1 a 5 l		5.00		\$1.60	
Lorsban 15 G Capture 2 EC	Insecticide	9 9	2% 10%	5.12 d		2.00		\$0.20	
Mustang Max	Insecticide Insecticide	9	20%	2.12		1.74 1.71		\$0.89 \$0.68	
Haul Grain bu	Custom	13	100%	175 k		0.10		\$17.50	
Dry 4 Points Removed	Custom	14	100%	175 k		0.10		\$45.50	
Dry 41 oints Removed	Custom	14	100 /0	175 k	Ju	0.20	7 D U	ψ+5.50	
Total Materials & Servi			er acre, 80					\$213.24	
Insecticide for RW(refu					nites an	d W. bea	n cutwo		ctively
Total listed costs for F	•			ervices				\$370.69	
Interest on op.capi		cash exp			6.0%	8	mo	12.66	
Total Operating Costs	and Use Relate	d Deprec	iation					\$383.35	
	g accounting, lia	•		icle cost,	office ex	pense		10.00	
Management including								34.20	
Machinery taxes, hous	ing, insurance	& interest	l	\$322 /	acre (@	6.5%	20.95	
Irrigation system taxes		nterest		\$248 /		@	6.0%	14.87	
Land real estate taxes				\$110 /	acre	1.00	acres	110.00	
incl into	erest and depre	eciation o	n well					\$573.37	
								,	
Revenue		_				_			
Value of Production	n <u>175</u>	<u>B</u> u	Co	orn @ \$_		/Bu			
Program Payment	hase	, r	Bu HWY @	, <u>@</u> \$_		/ /bu x	85%		
Total Revenue				_			0070		
Net I	Revenue = Tota	I Revenue	e - Total Co	sts includ	ing over	heads =			

Net Revenue = Total Revenue - Total Costs including overheads =

Total Revenue

Notill following corn, 24 Ton/ac Corn Sil			12	Acre-inc	hes	Year	2006		
	Times or		+Fuel&	Repa	airs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
2 Spread manure	Custom								
3 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62	
4 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
5 Hoe	0.1 ac	\$0.07	\$0.05	\$0.01	\$0.01	\$0.06	\$0.03	\$0.22	
6 PivotD125'Lift	12 AI	\$4.00	\$49.87	\$4.04	\$3.77	\$8.20	\$16.35	\$86.22	
7 Spray	Custom								
8 Chop Silage	Custom								
Total for Field operat		\$7.98	\$53.04	\$4.82	\$5.68	\$11.07	\$18.74	\$101.31	
•	0.00 /hr Elec								
	2.00 /gal		d rate of he	erbicide i	w/o war	ranty, us	e full rate		d
Materials & Services		Oper						Total	
Item		#	Acres x	Quantit		Price\$		\$/acre	
2,4-D Ester 4#	Herbicide	1	100%	1		1.88		\$1.88	
Uncomposted manure		2	100%	20 1		1.72		\$34.40	
Haul&Apply Manure	Custom	2	100%	20 1		1.50		\$30.00	
82-0-0	Fertilizer	3	100%	240 I		0.24		\$57.60	
10-34-0	Fertilizer	4	100%		gal	1.62		\$9.72	
Bicep II Magnum	Herbicide	4	100%	1.4	•	11.25		\$15.75	
Corn	Seed	4	100%	0.42	_	127.50	_	\$53.55	
Regent 4 SC	Insecticide	4	100%	4.16		3.46		\$14.39	
Aerial Spray	Custom	8	25%		ac	5.00		\$1.25	
Capture 2 EC	Insecticide	8	10%	2.5		1.74		\$0.44	
Capture 2 EC	Insecticide	8	10%	2.5		1.74		\$0.44	
Mustang Max	Insecticide	8	5%		0Z	1.71		\$0.17	
Chop,Haul,Pack	Custom	9	100%	24 1	ton	5.00	/ton	\$120.00	
Total Materials & Ser		00 seeds p						\$339.58	
Insecticide for RW,1s Total listed costs for					pective	ly		\$440.90	
	•			rvices	6.00/	0	m 0	-	
Interest on op.ca		11 cash exp			6.0%	0	mo	16.44 \$457.34	
Total Operating Cost	is and Use Rela	ted Deprec	lation					\$45 <i>1</i> .34	
Overheads include	ding accounting,	liability insu	rance, vehi	icle cost.	office ex	opense		15.00	
Management includir	0	•						27.90	
Machinery taxes, hou				\$77 /	acre/	@	6.5%	5.03	
Irrigation system tax	•		•	\$248 /		@	6.0%	14.87	
Land real estate taxe				\$110 /		_	acres	110.00	
	nterest and dep	reciation o	n well	φιισι	aoro	1.00	40100	110.00	
Total Costs including								\$630.14	
Revenue Value of Product	tion	<u>24</u> Ton	Corn Sila	ige @ \$_		/Ton			
Program Payme	nt <u>base</u>	<u> </u>	Bu HWY @	@ \$ <u></u>		/bu x	85%		
Total Revenue Ne	et Revenue = To	tal Revenue	e - Total Co	sts includ	ling ove	rheads =			

Dry Beans Pivot 800 GPM 35F								18
Conventional with wheat cover cro 19 Cwt/ac Dry Beans	р			8 .	Acre-inc	hes	Year	2006
Times	or	+Fuel&	Repa	nirs	Dep	rec		Your
Field operations Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Field Cult 1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
2 Disc 1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
3 Spray(attached) 1 ac	\$0.16			\$0.16		\$0.18	\$0.50	
4 Plant 1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00	
5 Hoe 1 ac	\$0.66	\$0.47	\$0.10	\$0.05	\$0.58	\$0.31	\$2.16	
6 Row Crop Cult 1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
7 Ridge Cult 1 ac	\$1.68	\$1.64	\$0.26	\$0.66	\$1.45	\$0.63	\$6.32	
8 Weed Labor								
9 PivotE125'Lift 8 AI	\$2.67	\$11.38	\$1.57	\$2.51	\$1.89	\$8.20	\$28.22	
10 Spray Custom								
11 Pickett Windrower 1 ac	\$1.55	\$1.75	\$0.43	\$1.05	\$0.88	\$2.88	\$8.54	
12 Combine 1 ac	\$1.94	\$3.13	\$2.42	\$0.22	\$9.90	\$0.67	\$18.27	
13 Truck Custom	·	·						
Total for Field operations	\$13.67	\$22.51	\$6.35	\$6.78	\$17.99	\$16.55	\$83.85	
Wage \$10.00 /hr Ele Diesel \$2.00 /gal	c \$0.05 /	'kwh						
Materials & Services	Oper						Total	
Item	#	Acres x	Quantit	v/ac v	Price\$	/unit =	\$/acre	
10-34-0-1z Fertilizer	3	100%		•	1.81		\$16.29	
Dual II Magnum Herbicide	3	100%	9 gal 1.81 /gal 1.33 pt 15.13 /pt		\$20.12			
Edible Beans Seed	4	100%	0.5		40.00		\$20.00	
Weeding/Thinning Other	8	100%	1 8		30.00		\$30.00	
Elec Connect fees Other	9	100%	1 6		2.70		\$2.70	
Aerial Spray Custom	10	60%	1 6		5.00		\$3.00	
Warrior T Insecticide		60%	1.92		1.74		\$2.00	
	13	100%	1.92 (0.20			
Haul Grain cwt Custom							\$3.80	
Wheat Seed	14	100%	30 I	D	0.16	/ID	\$4.80	
	ec connect fo				s		\$102.72	
Insecticide for Mexican bean beetle				10%)			\$186.57	
Total listed costs for Field Operation			rvices	0.00/	0			
	152 cash exp			6.0%	8	mo	6.08	
Total Operating Costs and Use Rel	ated Deprec	iation					\$192.65	
Overheads including accounting			cle cost,	office ex	pense		8.00	
Management including scouting ar	•						30.20	
Machinery taxes, housing, insuran		t	\$312 /	acre (<u> </u>	6.5%	20.27	
Irrigation system taxes, insurance			\$212 /	acre (<u> </u>	6.0%	12.73	
Land real estate taxes and interest		n well	\$110 /	acre	1.00	acres	110.00	
incl interest and de Total Costs including overheads	preciation 0	ii well					\$373.86	
Revenue								
Value of Production	<u>19</u> Cwt	Dry Bea	ins @ \$_		/Cwt			
Program Paymentbas	se x	Bu HWY @) \$ _		/ /bu x	85%		

Net Revenue = Total Revenue - Total Costs including overheads =

Program Payment **Total Revenue**

60 Barac C Corgin	4111										
	Times or		+Fuel&	Repa	airs	Depi	rec		Your		
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate		
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24			
2 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62			
3 Field Cult					\$0.00	•					
	1 ac	\$0.51	\$0.77	\$0.08		\$0.44	\$0.48	\$2.75			
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00			
5 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84			
6 Row Crop Cult	0.25 ac	\$0.42	\$0.24	\$0.27			\$1.21				
7 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93			
8 Spray	Custom										
9 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35			
10 Cart	80 bu	\$0.37	\$0.47	\$0.06	\$0.27	\$0.36	\$0.47	\$1.99			
11 Truck	Custom	ψ0.01	Ψ0.17	ψ0.00	Ψ0.21	ψ0.00	Ψ0.17	Ψ1.00			
11 HUCK	Custom										
Total for Field energy	tions	 ቀር ይር	ድር 64	¢4.40	ድጋ ጋ 4	¢40.00	CC 10	¢4E 02			
Total for Field opera		\$9.52	\$9.64	\$4.48	\$3.34	\$12.83	\$6.12	\$45.93			
•	0.00 /hr Elec	\$0.05 /	'kwh								
Diesel \$	2.00 /gal										
Materials & Services	•	Oper						Total			
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre			
82-0-0	Fertilizer	2	100%	100 I		0.24 /		\$24.00			
10-34-0	Fertilizer	4	100%			1.62 /		\$9.72			
					gal			\$23.63			
Bicep II Magnum	Herbicide	4	100%	2.1 (11.25 /qt				
Sorghum Safened	Seed	4	100%	4 I		1.26 /lb		\$5.04			
Peak	Herbicide	7	100%	0.75		12.00 /oz		\$9.00			
Crop Oil Concentrate	Herbicide	7	100%	2	ot	0.60 /pt		\$1.20			
Aerial Spray	Custom	8	15%	1 8	ac	5.00 /ac		\$0.75			
Lorsban 4 É	Insecticide	8	15%	1.5	ot	2.93 /	pt	\$0.66			
Haul Grain bu	Custom	11	100%	80		0.10 /	•	\$8.00			
riddi Ordin Sd	Guotom	• •	.0070		.	0.107	-	ψο.σσ			
Total Materials & Sei	rvicos Troatii	na aroonl	huas 1 vos	rin 10 a	hinohhi	iac 1 in 1	5	\$81.99			
Total Materials & Sei	vices ireatii	ig greeni	bugs 1 yea	ii iii 10, C	HIHICHDU	igs i iii i	J	фо 1.99			
Total listed costs for				rvices				\$127.92			
Interest on op.ca	apital \$109	cash exp	ense @		6.0%	8 r	no	4.36			
Total Operating Cost	ts and Use Relate	d Deprec	iation					\$132.28			
		•									
Overheads include	ding accounting, lia	hility insu	rance vehi	cle cost	office ex	nense		6.00			
Management includi				0.0 0001,	011100 071	pooc		14.65			
							C =0/				
Machinery taxes, ho	using, insurance o	& interes	(\$233 /	acre (@	6.5%	15.12			
Land real estate taxe	es and interest			\$55 <i>l</i>	acre/	1.00 a	acres	55.00			
Total Costs including	g overheads							\$223.06			
Revenue											
Value of Product	tion 80	Bu	G Sorghi	ım @ \$		/Bu					
value of filoddo		- 54	C Congin	⊗ \$- -≉.⊚		1					
Program Payme	nt base x	٠ .	Bu HWY @) \$ Ψ ^Ψ -		/ /bu x	85%				
Total Revenue	base x		20 1 1 V V 1 W	- Ψ		, Du A	00 /0				
140	Net Revenue = Total Revenue - Total Costs including overheads =										

G Sorghum Dryland NoTill 115 bu yield goal 105 Bu/ac G Sorghum

105 Barac & Conginar										
	Times or		+Fuel&	Repa	airs	Depi	ec		Your	
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate	
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93		
2 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93		
										
3 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76		
4 Spray	0.5 ac	\$0.41	\$0.13	\$0.24	\$0.08	\$0.02	\$0.09	\$0.96		
5 Spray	Custom									
6 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35		
7 Cart	105 bu	\$0.48	\$0.62	\$0.07	\$0.36	\$0.47	\$0.61	\$2.61		
8 Truck	Custom		·	•	•	·				
Total for Field operation	one	\$6.06	\$5.43	\$3.45	\$1.92	\$9.91	\$3.77	\$30.54		
•				ψυ.+υ	Ψ1.32	ψ3.31	ψ5.77	Ψ30.34		
•	.00 /hr Elec	\$0.05	/KWN							
	.00 /gal									
Materials & Services		Oper						Total		
Item		#	Acres x	Quantit	y/ac x	Price\$/	unit =	\$/acre		
Glyphosate w/Surf	Herbicide	1	100%	32 (-	0.11 /	07	\$3.52		
28-0-0	Fertilizer	2	100%	125 I		0.42 /		\$52.50		
	Herbicide	3	100%	2.1				\$23.63		
Bicep II Magnum						11.25 /	•			
10-34-0	Fertilizer	3	100%		gal	1.62 /		\$9.72		
Sorghum Safened	Seed	3	100%	4 I		1.26 /		\$5.04		
Peak	Herbicide	4	50%	0.75		12.00 /		\$4.50		
Crop Oil Concentrate	Herbicide	4	<i>50%</i>	2 p	ot	0.60 /	pt	\$0.60		
Aerial Spray	Custom	5	15%	1 8	ac	5.00 /	ac	\$0.75		
Lorsban 4 É	Insecticide	5	15%	1.5 p	ot	2.93 /		\$0.66		
Haul Grain bu	Custom	8	100%	105 k		0.10 /	•	\$10.50		
riddi Oldiii ba	Odotom	Ü	10070	100 k	Ju	0.107	Ju	Ψ10.00		
Total Materials & Serv	icos Troatii	a aroon	bugs 1 yea	rin 10 c	hinch h	uae 1 in 1	15	\$111.41		
Total Materials & Serv	ices irealii	ig greeni	ougs i yea	<i>II III 10,</i> C	illicii bi	uys i iii i	13	φ111. 4 1		
Total listed costs for F				rvices				\$141.96		
Interest on op.cap		cash exp			6.0%	8 r	no	5.13		
Total Operating Costs	and Use Relate	d Deprec	iation					\$147.09		
		-								
Overheads includi	ng accounting, lia	hility insu	rance vehi	icle cost	office exi	nense		4.00		
Management including				1010 0001,	omoc cx	301130		18.91		
				#400		-	0.50/			
Machinery taxes, hous	sing, insurance of	& interes	τ	\$160 /	acre (0	6.5%	10.41		
Land real estate taxes	and interest			\$55 /	acre	1.00 a	acres	55.00		
Total Costs including overheads \$										
3								•		
Revenue										
Value of Production	on 105	Bu	G Sorghi	um @ \$		/Bu				
		•	_ 30.g	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~		1				
Program Payment	t base x		Bu HWY @) \$		/bu x	85%			
Total Revenue			6	_	·	-	•			
	Net Revenue = Total Revenue - Total Costs including overheads =									
					5 - 5 - 5 - 5					

Ecofallow, After Wheat, 2 Crops in 3 Yr, 100 bu yield goal 90 Bu/ac G Sorghum

90 Bu/ac G Sorghun	1								
	Times or		+Fuel&	Repa	airs	Depr	ес		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
2 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
4 No-Till Drill	1 ac	\$1.59	\$1.80	\$0.23	\$1.99	\$1.28	\$1.81	\$8.69	
5 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
6 Spray	Custom	***	****	******	*****	40.0	*****	*****	
7 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35	
8 Cart	90 bu	\$0.41	\$0.53	\$0.06	\$0.31	\$0.40	\$0.53	\$2.24	
9 Truck	Custom	ΨΟ	Ψ0.00	ψ0.00	Ψ0.0 .	ψ0.10	ψυ.σσ	ΨΞ.Ξ.	
o maon	odotom								
Total for Field operation	ons	\$5.24	\$6.06	\$3.21	\$3.28	\$9.54	\$4.20	\$31.52	
	00 /hr Elec	\$0.05	-	Ψ0.21	Ψ0.20	ψο.ο ι	Ψ1.20	Ψ01.02	
•	00 /gal	ψ0.007	IXVVII						
Materials & Services	oo /gai	Oper						Total	
Item		#	A oroo v	Ougntit	wloo w	Drico¢/	unit -		
	I I a alatatata		Acres x	Quantity	-	Price\$/		\$/acre	
Glyphosate w/Surf	Herbicide	1	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grade	1	100%	2 1		0.23 /		\$0.46	
AAtrex 4L	Herbicide	2	100%	1 0		3.25 /	•	\$3.25	
Gramoxone Inteon	Herbicide	2	100%	1.5 p		5.03 /	•	\$7.55	
28-0-0	Fertilizer	3	100%	120 I		0.42 /		\$50.40	
Bicep II Magnum	Herbicide	3	100%	2.1 (11.25 /	•	\$23.63	
10-34-0	Fertilizer	4	100%		gal	1.62 /		\$9.72	
Sorghum Safened	Seed	4	100%	4 I		1.26 /		\$5.04	
Peak	Herbicide	5	50%	0.75	ΟZ	12.00 /	OZ	\$4.50	
Crop Oil Concentrate	Herbicide	5	50%	2 p	ot	0.60 /	pt	\$0.60	
Aerial Spray	Custom	6	15%	1 a	ас	5.00 /	ac	\$0.75	
Lorsban 4 É	Insecticide	6	15%	1.5 p	ot	2.93 /	pt	\$0.66	
Haul Grain bu	Custom	9	100%	90 k		0.10 /	•	\$9.00	
Total Materials & Serv	ices <i>Treatin</i>	ig greenl	bugs 1 yea	r in 10, c	hinch bu	igs 1 in 1	15	\$119.07	
			0	•					
Total listed costs for F	ield Operations	and Mate	erials & Se	rvices				\$150.59	
Interest on op.cap		cash exp			6.0%	8 r	no	5.47	
Total Operating Costs					0.070	٠.		\$156.06	
rotal operating coots	una coo molato.	, Dop. 00	iation					Ψ100.00	
Overheads including	ng accounting, lia	hility incu	rance vehi	icle cost (office evr	nenee		5.00	
Management including				ioic cost, t	onice exp	CHSC		16.36	
Machinery taxes, house				¢170 /	laoro 6	<i>-</i>	G E0/	11.04	
wachinery taxes, nous	ilig, ilisurance d	k iiiteresi		\$170 /	acre @	ע	6.5%	11.04	
				# 00 /		4.50 -		45.00	
Land real estate taxes	and interest			\$30 /	acre	1.50 a	acres	45.00	
Total Costs including overheads \$2								\$233.45	
Povenue									
Revenue Value of Production	n 00	Du	C Sarah	ım @ ¢	,	Du			
value of Production	90	Bu	G Sorghi	- پ السالسالسالسالسالسالسالسالسالسالسالسالسا		Bu			
Program Payment	base x		Bu HWY @) s @ #_		bu x	85%		
Total Revenue		'	-a 1 1 v v 1 W	, Ψ _		DU A	00 /0		
	Revenue = Total	Revenue	- Total Co	sts includ	ling overh	neads =			
					-				

	ed Irrigation 155 bu yield goal 6 Acre-inches Year 2006						2006		
140 Bu/ac G Sorghur				_		_			
	Times or		+Fuel&	Repa		Dep			Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Anhy Apply	1 ac	\$1.39	\$1.62	\$0.20	\$0.60	\$1.23	\$0.59	\$5.62	
3 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00	
5 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
6 Spray	Custom								
7 PivotD125'Lift	6 Al	\$2.00	\$24.94	\$2.02	\$1.89	\$4.10	\$8.17	\$43.11	
8 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35	
9 Cart	140 bu	\$0.64	\$0.83	\$0.10	\$0.48	\$0.62	\$0.82	\$3.49	
10 Truck	Custom								
Total for Field operation		\$9.80	\$31.96	\$5.91	\$4.09	\$15.25	\$13.34	\$80.35	
•	.00 /hr Elec	\$0.05	/kwh						
	.00 /gal								
Materials & Services		Oper						Total	
ltem		#	Acres x	Quantit	y/ac x	Price\$		\$/acre	
Glyphosate w/Surf	Herbicide	1	100%	32 (0.11		\$3.52	
21-0-0-26s	Spray Grade	1	100%	2 I	b	0.23	/lb	\$0.46	
82-0-0	Fertilizer	2	100%	160 lb N		0.24 /lb N		\$38.40	
Bicep II Magnum	n Herbicide 3 100% 2 qt		qt	11.25	/qt	\$22.50			
10-34-0	Fertilizer	4	100%	6 (gal	1.62	/gal	\$9.72	
Sorghum Safened	Seed	4	100%	4 1	4 lb 1.26 /lb		\$5.04		
Peak	Herbicide	5	100%	0.75	0.75 oz 12.00 /oz		\$9.00		
Crop Oil Concentrate	Herbicide	5	100%	2	ot	0.60	/pt	\$1.20	
Aerial Spray	Custom	6	15%	1 8	ас	5.00	/ac	\$0.75	
Lorsban 4 E	Insecticide	6	15%	1.5	ot	2.93	/pt	\$0.66	
Haul Grain bu	Custom	10	100%	140 l		0.10	/bu	\$14.00	
Total Materials & Serv	rices <i>Treatin</i>	ng greenl	bugs 1 yea	nr in 10, c	hinch b	ugs 1 in	15	\$105.25	
Total listed costs for I	Field Operations	and Mate	erials & Se	rvices				\$185.60	
Interest on op.cap	•	cash exp			6.0%	8	mo	6.28	
Total Operating Costs		d Deprec	iation					\$191.88	
Overheads includi	ng accounting, lia	bility insu	rance, vehi	cle cost.	office ex	pense		6.00	
Management including		-			000 07.	, , , ,		24.88	
Machinery taxes, hous				\$191 /	acre (<u>a</u>	6.5%	12.41	
Irrigation system taxe			•	\$248 /		<u></u>	6.0%	14.87	
Land real estate taxes		1101031		\$110 /	-	_	acres	110.00	
	terest and depre	ciation o	n woll	φ1107	acie	1.00	acies	110.00	
Total Costs including		Ciation o	ii weii					\$360.04	
Revenue Value of Production	on 140	Bu	G Sorghi	um @ \$		/Bu			
Program Paymen		-	Bu HWY @	@ \$ -		/ /bu x	85%		
Total Revenue			•	_			00%		
Net	Revenue = Total	Revenue	e - Total Co	sts includ	ing over	neads =			

Program Payment

Total Revenue

2 Acre-inches Year 2006 **Fall Estab** +Fuel& Your Times or Repairs **Deprec** Field operations Lube +Pwr +Imp +Pwr +Imp =Total Estimate Qty Labor 1 Disc 1 ac \$1.00 \$1.52 \$0.16 \$0.83 \$0.88 \$0.85 \$5.24 2 Field Cult 1 ac \$0.51 \$0.77 \$0.08 \$0.47 \$0.44 \$0.48 \$2.75 3 Roll \$1.10 \$1.10 \$1.05 \$0.30 \$0.09 \$1.81 \$5.46 1 ac 4 Grass Drill 1 ac \$2.22 \$1.75 \$1.49 Rent \$0.13 Rent \$5.59 5 PivotD125'Lift 2 AI \$0.67 \$8.31 \$0.67 \$0.63 \$1.37 \$2.72 \$14.37 \$0.04 6 Spread, Fert. \$0.78 \$0.55 \$0.46 1 ac Incl Incl \$1.83 **Total for Field operations** \$6.28 \$14.00 \$3.91 \$2.23 \$2.96 \$5.87 \$35.25 Wage \$10.00 /hr \$0.05 /kwh Elec Diesel \$2.00 /gal **Materials & Services** Oper **Total** Item # Acres x Quantity/ac x Price\$/unit = \$/acre 1.43 /lb Grass Seed Seed 4 100% 60 lb \$85.80 Grass Drill Rental 4 100% 1 ac 6.00 /ac \$6.00 6 100% 0.17 /lb 11-52-0 Fertilizer 60 lb \$10.20 **Total Materials & Services** \$102.00 **Total listed costs for Field Operations and Materials & Services** \$137.25 Interest on op.capital \$128 cash expense @ 6.0% 8 mo 5.14 **Total Operating Costs and Use Related Depreciation** \$142.39 Overheads including accounting, liability insurance, vehicle cost, office expense 6.00 Management including scouting and crop insurance 15.00 Machinery taxes, housing, insurance & interest \$84 /acre @ 6.5% 5.43 Irrigation system taxes, insurance & interest \$248 /acre @ 6.0% 14.87 Land real estate taxes and interest \$0 /acre 1.00 acres 0.00 incl interest and depreciation on well **Total Costs including overheads** \$183.69 Revenue Ton Grass @ \$ Value of Production

Net Revenue = Total Revenue - Total Costs including overheads =

85%

2 Ton/ac Grass Hay								Year	2006
2 Tomac Orass Hay	Times or		+Fuel&	Repa	irs	Depi	ec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spread,Fert.	1 ac	\$0.78	\$0.55	\$0.46	Incl	\$0.04	Incl	\$1.83	
2 Swath/Cond Hay	1 ac	\$1.23	\$1.25	\$0.82	\$1.05	\$0.43	\$1.19	\$5.97	
3 Lg Rd Bale	2 ton	\$1.64	\$0.86	\$0.24	\$0.64	\$1.32	\$4.78	\$9.49	
4 Move Lg Rd	2 ton	\$1.78	\$1.30	\$0.24	\$0.02	\$1.32	\$0.15	\$4.82	
Total for Field operatio	ns	\$5.43	\$3.96	\$1.76	\$1.71	\$3.12	\$6.13	\$22.11	
Wage \$10.0 Diesel \$2.0	00 /hr Elec 00 /gal	\$0.05 /	/kwh						
Materials & Services	10 /gai	Oper						Total	
Item		#	Acres x	Quantity	y/ac x	Price\$/	unit =	\$/acre	
46-0-0	Fertilizer	1		35 I	b N	0.38 /	lb N		
11-52-0	Fertilizer	3		15 I	b	0.17 /	lb		
Twine Lg Rd	Other	3		2.7 k	oale	0.49 /	bale		
Total Materials & Servi	ces								
Total listed costs for Fi	eld Operations	and Mate	erials & Se	rvices				\$22.11	
Interest on op.capit	al \$13:	cash exp	ense @		6.0%	8 r	no	0.51	
Total Operating Costs	and Use Relate	d Deprec	iation					\$22.62	
Overheads includin	g accounting, lia	bility insu	rance, vehi	icle cost, o	office exp	ense		1.00	
Management including	scouting and o	rop insu	rance					9.82	
Machinery taxes, hous	ing, insurance &	& interest	t	\$143 /	acre @	0	6.5%	9.28	
Land real estate taxes	and interest			\$30 /	acre	1.00 a	acres	30.00	
Total Costs including of	verheads							\$72.72	
Revenue Value of Production	n <u>2</u>	Ton	Grass H	lay @ \$_ @ \$	/	Ton			
Program Payment Total Revenue	base x	·I	Bu HWY @			bu x	85%		
	Revenue = Total	Revenue	e - Total Co	sts includ	ing overl	neads =			

Oats Drylar Notill, 90 Bu Yield Go								Year	25 2006
80 Bu/ac Oats		Tons/ac	Oats Strav	W				ı oui	2000
	Times or		+Fuel&	Repa	airs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$ 0.16	\$0.04	\$0.18	\$1.93	
2 No-Till Drill	1 ac	\$1.59	\$1.80	\$0.23	\$1.99	\$1.28	\$1.81	\$8.69	
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
4 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35	
5 Truck	Custom	* -	•	,	* -	*		,	
6 Lg Rd Bale	1.5 ton	\$1.23	\$0.65	\$0.18	\$0.48	\$0.99	\$3.59	\$7.12	
7 Move Lg Rd	1.5 ton	\$1.34	\$0.98	\$0.18	\$0.02	\$0.99	\$0.12	\$3.61	
3		* -	,	,	*	*		,	
Total for Field operati	ons	\$6.98	\$6.82	\$3.26	\$3.01	\$11.10	\$7.04	\$38.20	
-	.00 /hr Elec	\$0.05 /	•	, -		•		,	
	.00 /gal	Ψ σ . σ σ .							
Materials & Services	.00 /gai	Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
28-0-0	Fertilizer	1	100%	100 1	-	0.42 /		\$42.00	
Oats	Seed	2	100%	2 1		5.50 /		\$11.00	
Aim	Herbicide	3	100%					\$3.50	
10-34-0	Fertilizer	3	100%	0.5 oz 7.00 /oz 6 gal 1.62 /gal		\$9.72			
	Herbicide	3	100%	0.5 pt 1.88 /pt		•	•		
2,4-D Ester 4#		3			•		•	\$0.94 \$0.78	
NIS	Herbicide		100%	6 (0.13 /		•	
Haul Grain bu	Custom	6	100%	80 1		0.10 /		\$8.00	
Twine Lg Rd	Other	7	100%	2 [bale	0.49 /	bale	\$0.98	
T-4-1 M-4								¢70.00	
Total Materials & Serv	/ices							\$76.92	
								A	
Total listed costs for I	•			rvices				\$115.12	
Interest on op.cap		cash exp			6.0%	8 r	mo	3.88	
Total Operating Costs	s and Use Relate	d Deprec	iation					\$119.00	
	ing accounting, lia	•		cle cost,	office ex	pense		3.00	
Management includin								14.44	
Machinery taxes, hou	sing, insurance	& interest	t	\$236 /	acre (@	6.5%	15.32	
Land real estate taxes	and interest			\$55 /	acre/	1.00 a	acres	55.00	
Total Costs including	overheads							\$206.75	
9									
Revenue									
Value of Production	on 80) Bu		ats @ \$		/Bu			
		Tons	Oats Str			/Tons			
Program Paymen	tbase x	اا	Bu HWY @) \$ _		/bu x	85%		
Total Revenue									

Net Revenue = Total Revenue - Total Costs including overheads =

Program Payment
Total Revenue

19 Acro-inches Year 2006

Grazing			•	18 Acre-inches	
10 AUM/ac Pasture					
	Times or	+Fuel&	Popaire	Denrec	

Grazing					18	Acre-inc	hes	Year	2006
10 AUM/ac Pasture	Times or		+Fuel&	Repa	ire	Dep	roc		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 PivotD125'Lift	18 AI	\$6.00	\$74.81	\$6.06	\$5.66			\$129.33	Lotimate
T T WOLD 120 LIIL	10 /1	ψ0.00	Ψ1 4.01	ψ0.00	ψ5.00	Ψ12.50	ΨΖ-Τ.ΟΖ	Ψ120.00	
Total for Field operation	ıs	\$6.00	\$74.81	\$6.06	\$5.66	\$12.30	\$24.52	\$129.33	
Wage \$10.00		\$0.05 /	/kwh						
Diesel \$2.00	0 /gal								
Materials & Services	Ü	Oper						Total	
Item		#	Acres x	Quantity	y/ac x	Price\$/	unit =	\$/acre	
28-0-0	Fertilizer	1	100%	200 II	•	0.42	/lb N	\$84.00	
Electricity fence/water	Other		100%	1 a	ас	1.76	/ac	\$1.76	
Fence/water repairs	Other		100%	1 a	ac	1.76	/ac	\$1.76	
Move Cattle	Other		100%	1 h	nr	8.75	/hr	\$8.75	
Total Materials & Service	es							\$96.27	
Total listed costs for Fig	eld Operations	and Mate	erials & Se	rvices				\$225.60	
Interest on op.capita	•	cash exp			6.0%	8	mo	7.55	
Total Operating Costs a			_					\$233.15	
Establishment cost/yea		•		\$39		25	years	1.56	
	accounting, lia	bility insu	rance, vehi	icle cost, d	office ex		,	4.00	
Management including		•		,		•		17.82	
Machinery taxes, housing				/:	acre (@	6.5%		
Irrigation system taxes,				\$248 /		<u>a</u>	6.0%	14.87	
Land real estate taxes a	nd interest			\$110 /	acre	1.00	acres	110.00	
incl inte	rest and depre	ciation o	n well, fen	ce and w	ater sys	stem			
Total Costs including of	-		e establis					\$381.40	
Devenue									
Revenue Value of Production	10	AUM	Pasti	ure @ \$		/AUM			
value of 1 foddelloff		_ / .O IVI	1 4311	(// (OIVI			
Program Payment	base x	I	Bu HWY @			/bu x	85%		
Total Revenue			T	-					

Value of Production	10_AUM	Pasture @ \$ @ \$	/AUM	
Program Payment	base x	_Bu HWY @ \$	/bu x	85%
Total Revenue Net Reven	ue = Total Reven	ue - Total Costs inclu	ding overheads =	

Stubble Mulch Fallow,ff Wheat,2 Crops in 3 Yr, 22 cwt yld goal 20 Cwt/ac Millet

20 Cwt/ac Millet									
	Times or		+Fuel&	Repa	irs	Depr	ес		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Fallow Master	1 ac	\$0.51	\$0.81	\$0.20	\$0.49	\$0.41	\$1.05	\$3.48	
3 Rod Weeder	1 ac	\$0.83	\$0.82	\$0.22	\$0.61	\$0.42	\$1.12	\$4.02	
4 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
5 Drill	1 ac	\$0.68	\$0.95	\$0.10	\$2.34	\$0.55	\$2.94	\$7.56	
6 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
7 Windrow Grain	1 ac	\$1.15	\$0.69	\$0.64	\$0.16	\$0.34	\$2.23	\$5.21	
8 Combine	1 ac	\$1.94	\$3.13	\$2.42	\$0.22	\$9.90	\$0.67	\$18.27	
9 Truck	Custom	Ψ1.34	ψ5.15	ΨΖ.ΨΖ	ψυ.ΖΖ	ψ3.30	ψ0.07	ψ10.21	
9 Huck	Custom								
Total for Field operation	ons	\$7.54	\$7.15	\$5.02	\$4.30	\$11.74	\$8.57	\$44.32	
	.00 /hr Elec	\$0.05		,	,	•	,	•	
•	.00 /gal	ψυ.συ /							
Materials & Services	.00 /gai	Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
Glyphosate w/Surf	Herbicide	1	100%	32 (-	0.11 /		\$3.52	
21-0-0-26s	Spray Grade	1	100%	2 1		0.11 /		\$0.46	
28-0-0	Fertilizer	4	100%	40 I				\$16.80	
Millet	Seed	5	100%	12 I		0.42 /lb N 0.40 /lb			
						1.50 /pt		\$4.80	
2,4-D Amine	Herbicide	6	100%	0.75 p				\$1.13	
Banvel	Herbicide	6	100%	0.5		0.59 /		\$0.30	
Haul Grain cwt	Custom	9	100%	20 (cwt	0.20 /	cwt	\$4.00	
Total Materials & Serv	rices							\$31.00	
Total Materials & Gerv	1003							ψ51.00	
Total listed costs for F	Field Operations	and Mate	erials & Se	rvices				\$75.32	
Interest on op.cap		cash exp			6.0%	8 r	nο	2.20	
Total Operating Costs					0.070	0.		\$77.52	
rotal Operating Costs	and OSC Related	л Бергее	lation					Ψ11.02	
Overheads includi	ng accounting, lia	hility ingu	rance vehi	cle cost	office evi	nense		3.00	
Management including				ole cost,	omoc cx	301130		9.02	
Machinery taxes, hous				\$266 /	aoro 6	D)	6.5%	17.29	
Macilinery taxes, nous	sing, insurance o	x illiteres		φ200 /	acie (<u>u</u>	0.5%	17.29	
Land real estate taxes	and interest			\$30 /	acre	1.50 a	acres	45.00	
Lana Tour Cotato taxeo	dia interest			φου /	doro	1.00 0	10100	40.00	
Total Costs including	overheads							\$151.83	
Davienus									
Revenue Value of Production	n 20	Cwt	N A ii			/Cwt			
value of Production		Cwt	IVIII	let @ \$_ @ \$_		/CWt			
Program Paymen	t base x	1	Bu HWY @	- ^{س س} -		/bu x	85%		
Total Revenue	base x		ba i ivv i W	, Ψ _		DU A	00 /0		
	Revenue = Total	Revenue	e - Total Co	sts includ	ing overl	neads =			

35 Bu/ac Soybeans	i								
	Times or		+Fuel&	Repa	irs	Depi	ес		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
2 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00	
5 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
6 Spray	Custom	Ψ0.01	Ψ0.20	ψ0.10	ψ0.10	ψ0.01	ψ0.10	Ψ1.00	
7 Combine	1 ac	\$1.94	\$3.72	\$2.42	\$0.37	\$9.90	\$0.87	\$19.22	
8 Truck	Custom	Ψ1.54	Ψ3.72	ΨΖ.ΤΖ	ψ0.01	ψ5.50	ψ0.07	Ψ13.22	
o Track	Odstom								
Total for Field operat	ions	\$6.57	\$7.40	\$3.68	\$2.62	\$12.69	\$4.67	\$37.64	
•	0.00 /hr Elec	\$0.05 /	· ·	ψ0.00	Ψ2.02	Ψ12.00	ψ	40.10 1	
	2.00 /gal		anty on re	duced ra	te herhi	ride hudd	eted he	re	
Materials & Services	00 /gai	Oper	anty on rec	uuceu ra	ic nerbit	Jue Daug	jeteu ne	Total	
Item		#	A oron v	Quantit	wloo w	Drice \$1	unit -	\$/acre	
	l la whai ai al a		Acres x	Quantit	-	Price\$/			
Authority	Herbicide	3	100%	5.3 (1.81 /		\$9.59	
Prowl H2O	Herbicide	3	100%	1.4 (0.25 /		\$0.35	
RR Soybeans	Seed	4	100%	1.2 k	-	28.00 /	_	\$33.60	
Glyphosate w/Surf	Herbicide	5	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grade	5	100%	2		0.23 /lb		\$0.46	
Aerial Spray	Custom	6	20%	1 a		5.00 /		\$1.00	
Warrior T	Insecticide	6	20%	3.2 (1.74 /		\$1.11	
Haul Grain bu	Custom	8	100%	1 k	ou	0.10 /	bu	\$0.10	
Total Materials & Serv		150,000 s	eeding rat	te				\$49.74	
Insecticide for Bean									
Total listed costs for	Field Operations	and Mate	erials & Se	rvices				\$87.37	
Interest on op.ca	pital \$70	cash exp	ense @		6.0%	8 r	no	2.80	
Total Operating Cost	s and Use Relate	d Deprec	iation					\$90.17	
		•							
Overheads includ	ing accounting, lia	bility insu	rance, vehi	icle cost.	office ex	pense		5.00	
Management including				,		,		17.09	
Machinery taxes, hou				\$195 /	acre (@	6.5%	12.68	
macrimery taxes, nou	ising, msurance	a iiiteresi	•	ψ1007	acic (<u>w</u>	0.570	12.00	
Land real estate taxes	s and interest			\$55 /	acre	1.00 a	acres	55.00	
Land real estate taxe.	s and interest			ψοο /	acic	1.00 8	20103	33.00	
Total Costs including	overheads							\$179.94	
_									
Revenue	25	D	Cavibaa	@ f		/D			
Value of Producti	UII <u>35</u>	Bu	Soybea	ns @ \$_		/Bu /			
Program Paymer	nt base x		Bu HWY @	、		/ /bu x	85%		
Total Revenue	base x		Julivvi (d	, Ψ _		/DU X	0070		
	t Revenue = Tota	l Revenue	e - Total Co	sts includ	ina over	heads =			
140				2.00.00	9 3 7 31				

Notill, Roundup Ready After Corn 40 Bu/ac Soybeans

40 Bu/ac Soybe	ans								
	Times or	•	+Fuel&	Repa	airs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
2 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
3 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
4 Spray	Custom	•				•		·	
5 Combine	1 ac	\$1.94	\$3.72	\$2.42	\$0.37	\$9.90	\$0.87	\$19.22	
6 Truck	Custom	·					·	·	
Total for Field and		.	ФE 40	ው ስ ርር	Φ4 7 4	044 55	#0.00	¢20.02	
Total for Field ope		\$5.59	\$5.49	\$3.66	\$1.74	\$11.55	\$2.80	\$30.83	
Wage Diesel	\$10.00 /hr Elec \$2.00 /gal	\$0.05	/KWN						
Materials & Servic		Oper						Total	
Item		#	Acres x	Quantit	y/ac x	Price\$/	unit =	\$/acre	
Canopy XL	Herbicide	1	100%	2.5		2.38 /	oz/	\$5.95	
RR Soybeans	Seed	2	100%	1 1	oag	28.00 /	/bag	\$28.00	
Glyphosate w/Surf	Herbicide	3	100%	32 (0	0.11 /	0	\$3.52	
21-0-0-26s	Spray Grad		100%	2		0.23 /	/lb	\$0.46	
Aerial Spray	Custom	4	20%	1 a		5.00 /		\$1.00	
Warrior T	Insecticide	4	20%	3.2		1.74		\$1.11	
Haul Grain bu	Custom	6	100%	40 1		0.10 /		\$4.00	
Total Materials & S Insecticide For Be Total listed costs	an Leaf Beetle	000 seedin		ervices				\$44.04 \$74.87	
Interest on op	.capital \$	61 cash exp	ense @		6.0%	8 ו	mo	2.42	
Total Operating Co	osts and Use Rela	ted Deprec	iation					\$77.29	
Overheads inc	cluding accounting,	liability incu	ıranca vah	iolo cost	office ov	nonce		5.00	
Management inclu				icie cost,	OIIICE EX	pense		19.39	
•	-	•		¢150	laara (a	C E0/		
Machinery taxes, I	nousing, insuranc	e & interes	ı	\$158 /	acre (@	6.5%	10.28	
Land real estate ta	exes and interest			\$55 /	acre/	1.00 a	acres	55.00	
Total Costs includ	ling overheads							\$166.96	
Revenue Value of Prod	uction	<u>40</u> Bu	Soybea	ans @ \$_ @ \$		/Bu /			
Program Payr Total Revenue	mentbase	e x	Bu HWY @			/bu x	85%		
	Net Revenue = To	tal Revenue	e - Total Co	sts includ	ling over	heads =			

9 Acre-inches	9 A	cre-inches	
---------------	-----	------------	--

85%

Tilled seedbed, Rou 55 Bu/ac Soybea		Corn			9	Acre-inc	hes	Year	2006
33 Barac Coybca	Times or		+Fuel&	Repa	irs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$ 0.85	\$5.24	
2 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
4 Plant	1 ac	\$1.82	\$0.91	\$0.25	\$0.54	\$1.41	\$2.08	\$7.00	
5 PivotD125'Lift	9 AI	\$3.00	\$37.40	\$3.03	\$2.83	\$6.15	\$12.26	\$64.67	
6 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
7 Spray	Custom								
8 Combine	1 ac	\$1.94	\$3.72	\$2.42	\$0.37	\$9.90	\$0.87	\$19.22	
9 Truck	Custom								
Total for Field oper	ations	\$9.57	\$44.80	\$6.71	\$5.45	\$18.84	\$16.93	\$102.30	
Wage \$	10.00 /hr Elec	\$0.05 /	kwh						
	\$2.00 /gal	No warra	anty on red	duced rat	te herbid	cide bud	geted he	re	
Materials & Service	s	Oper	•			•		Total	
Item		#	Acres x	Quantit	y/ac x	Price\$/	/unit =	\$/acre	
Authority	Herbicide	3	100%	3.6 (\$6.52		
Prowl H2O	Herbicide	3	100%	1.4 (ΟZ	0.25	/oz	\$0.35	
RR Soybeans	Seed	4	100%	1 k	1 bag 28.00 /bag		/bag	\$28.00	
Glyphosate w/Surf	Herbicide	6	100%	32 (0.11		\$3.52	
21-0-0-26s	Spray Grade	6	100%	2	b	0.23	/lb	\$0.46	
Aerial Spray	Custom	7	20%	1 a	ас	5.00	/ac	\$1.00	
Warrior T	Insecticide	7	20%	3.2 (Σ	1.74	/oz	\$1.11	
Haul Grain bu	Custom	9	100%	35 k	ou	0.10	/bu	\$3.50	
Total Materials & So		150,000 s	eeding rat	te				\$44.46	
Total listed costs for		and Mate	erials & Se	rvices				\$146.76	
Interest on op.o	capital \$111	cash exp	ense @		6.0%	8	mo	4.44	
Total Operating Co	sts and Use Relate	d Deprec	iation					\$151.20	
Overheads incl	uding accounting, lia	bility insu	rance, vehi	cle cost.	office ex	pense		5.00	
Management include								26.28	
Machinery taxes, he				\$195 /	acre (<u></u>	6.5%	12.68	
Irrigation system ta				\$248 /		<u>a</u>	6.0%	14.87	
Land real estate tax	ces and interest			\$110 /			acres	110.00	
incl Total Costs includi	interest and depre	eciation o	n well					\$320.02	
Revenue		D	0			/D			

Value of Production 55 Bu Soybeans @ \$ /Bu
Program Payment base x Bu HWY @ \$ /bu x

Net Revenue = Total Revenue - Total Costs including overheads =

Total Revenue

Ridgetill, RR After RR Corn				12 Acre-inches				Year 2006	
55 Bu/ac Soybean									
	Times or		+Fuel&	Repa	airs	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
2 Ridge Plant	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76	
3 Ridge Cult	1 ac	\$1.68	\$1.64	\$0.26	\$0.66	\$1.45	\$0.63	\$6.32	
4 Ridge Cult	1 ac	\$1.68	\$1.64	\$0.26	\$0.66	\$1.45	\$0.63	\$6.32	
5 Pipe D125'Lift	7 Al	\$7.00	\$20.48	\$1.88	\$0.63	\$3.67	\$1.63	\$35.29	
6 Spray	0.5 ac	\$0.25	\$0.12	\$0.15	\$0.13	\$0.01	\$0.11	\$0.75	
7 Spray	Custom								
8 Combine	1 ac	\$1.94	\$3.72	\$2.42	\$0.37	\$9.90	\$0.87	\$19.22	
9 Truck	Custom								
Total for Field operate	tions	\$15.07	\$29.09	\$5.54	\$3.75	\$18.07	\$5.65	\$77.15	
Wage \$1	0.00 /hr Elec	\$0.05	/kwh						
•	2.00 /gal								
Materials & Services	•	Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
2,4-D Ester 4#	Herbicide	1	20%	1.5	-	1.88 /		\$0.56	
Select Max	Herbicide	2	40%	6		1.04 /		\$2.50	
Crop Oil Concentrate	Herbicide	2	40%	2	ot	0.60 /pt		\$0.48	
RR Soybeans	Seed	2	100%		oag	28.00 /bag		\$28.00	
Glyphosate w/Surf	Herbicide	6	50%	32 (0.11 /oz		\$1.76	
21-0-0-26s	Spray Grad		50%	2 1				\$0.23	
Aerial Spray	Custom	7	20%	1 :		5.00 /		\$1.00	
Warrior T	Insecticide	7	20%	3.2		1.74		\$1.11	
Haul Grain bu	Custom	9	100%	55 I		0.10 /		\$5.50	
Total Materials & Sei Insecticide For Bean	-	000 seedin	g rate					\$41.14	
Total listed costs for		ns and Mat	erials & Se	rvices				\$118.29	
Interest on op.ca	•	95 cash exp			6.0%	8 1	mo	3.78	
Total Operating Cost					0.070	0.		\$122.07	
rotal operating		.о – ор. оо						V 1	
Overheads include	ding accounting,	liabilitv insu	rance, vehi	icle cost.	office exi	oense		4.73	
Management includi								26.28	
Machinery taxes, hou				\$218 /	acre (2)	6.5%	14.17	
Irrigation system tax			•		•	<u>.</u>	6.0%		
Land real estate taxe				\$100 /		1.00 a		100.00	
	nterest and dep	reciation o	n well	φ.σσ,	40.0		20.00	100100	
Total Costs including	•	. Columbia						\$274.18	
Revenue									
Value of Product	ion <u>5</u>	5 <u>5</u> Bu	Soybea	ns @ \$_		/Bu			
Program Payme	nt base	X	Bu HWY @	@ \$ <u> </u> }		/ /bu x	85%		
Total Revenue				_			30,70		
Net Revenue = Total Revenue - Total Costs including overheads =									

/bu x

85%

base x

Net Revenue = Total Revenue - Total Costs including overheads =

Program Payment

Total Revenue

Soybeans Pivot 800 GPM 35PSI Notill Drilled, Roundup Ready After Corn					6 Acre-inches Year 2006					
58 Bu/ac Soybeans		וווע			0 /	ACIE-IIIC	1162	Teal	2006	
50 2 and 3 5 5 7 5 6 11 5	Times or		+Fuel&	Repa	irs	Dep	rec		Your	
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate	
1 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93		
2 No-Till Drill	1 ac	\$1.59	\$1.80	\$0.23	\$1.99	\$1.28	\$1.81	\$8.69		
3 Spray	0.5 ac	\$0.41	\$0.13	\$0.24	\$0.08	\$0.02	\$0.09	\$0.96		
4 Spray	Custom									
5 PivotD125'Lift	6 AI	\$2.00	\$24.94	\$2.02	\$1.89	\$4.10	\$8.17	\$43.11		
6 Combine	1 ac	\$1.94	\$3.72	\$2.42	\$0.37	\$9.90	\$0.87	\$19.22		
7 Truck	Custom									
Total for Field operati	ons	\$6.75	\$30.83	\$5.39	\$4.49	\$15.34	\$11.13	\$73.92		
Wage \$10	.00 /hr Elec	\$0.05 /	kwh							
_	.00 /gal	No warra	anty on red	duced rat	te herbid	cide bud	geted he	re		
Materials & Services		Oper	-					Total		
Item		#	Acres x	Quantit	y/ac x	Price\$/	/unit =	\$/acre		
Glyphosate w/Surf	Herbicide	1	100%	32 (Σ	0.11	/oz	\$3.52		
21-0-0-26s	Spray Grade	1	100%	2 I	b	0.23	/lb	\$0.46		
RR Soybeans	Seed	2	100%	1.2 k	oag	28.00	/bag	\$33.60		
Authority	Herbicide	2	100%	4 ()z	1.81	/0z	\$7.24		
Prowl H2O	Herbicide	2	100%	1.4 (Σ	0.25		\$0.35		
Glyphosate w/Surf	Herbicide	3	50%	32 (Σ	0.11	/oz	\$1.76		
21-0-0-26s	Spray Grade	3	50%	2 I	b	0.23	/lb	\$0.23		
Aerial Spray	Custom	4	20%	1 a		5.00	/ac	\$1.00		
Warrior T	Insecticide	4	20%	3.2 (1.74		\$1.11		
Haul Grain bu	Custom	7	100%	58 k	ou	0.10	/bu	\$5.80		
Total Materials & Serv		0 seeds p	oer acre					\$55.07		
Insecticide For Bean				_						
Total listed costs for	•			rvices	0.00/	•		\$128.99		
Interest on op.car		cash exp			6.0%	8	mo	4.10		
Total Operating Costs	s and Use Relate	a Deprec	lation					\$133.09		
	ing accounting, lia			cle cost,	office ex	pense		5.00		
Management including	-	•						27.65		
Machinery taxes, hou	•			\$163 /	•	<u>D</u>	6.5%	10.62		
Irrigation system taxe	es, insurance & ir	nterest		\$248 /	acre (<u>D</u>	6.0%	14.87		
Land real estate taxes	s and interest iterest and depre	ciation o	n well	\$110 /	acre	1.00	acres	110.00		
Total Costs including	-	Ciation o	ii weii					\$301.23		
Revenue		_				_				
Value of Producti		Bu	Soybea	ns @ \$_ @ \$		/Bu /				
Program Paymen Total Revenue	t <u>base x</u>	E	Bu HWY @	\$ _		/bu x	85%			
	: Revenue = Total	Revenue	- Total Co	sts includ	ing over	heads =				

_	l Irrigated				20	Acre-inc	hoo	Voor	34
One Pass Tillage 20 Tons/ac Sugar B	leets				20 /	Year 2006			
20 Tolls/ac Ougal D	Times or		+Fuel&	Rep	aire	Dep	rec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	LStillate
2 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
3 Spray	Custom	ψ0.01	ψ0.20	ψ0.10	ψ0.10	Ψ0.01	ψ0.10	Ψ1.00	
4 Till Plant Beets	1 ac	\$1.52	\$2.54	\$0.53	\$0.51	\$1.10	\$3.84	\$10.04	
5 Hoe	1 ac	\$0.66	\$0.47	\$0.10	\$0.05	\$0.58	\$0.31	\$2.16	
6 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
7 Hill/ditch	1 ac	\$1.68	\$1.64	\$0.26	\$0.66	\$1.45	\$0.63	\$6.32	
8 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
9 Weed	Labor		·			·		·	
10 Ditch Irrig	8 AI	\$13.60						\$13.60	
11 Spray	Custom								
12 Spray	Custom								
13 Top Beets	1 ac	\$1.88	\$1.36	\$0.52	\$1.18	\$0.97	\$2.65	\$8.56	
14 Lift Beets	1 ac	\$2.13	\$2.42	\$0.53	\$12.52	\$0.99	\$8.90	\$27.49	
15 Truck	Custom								
16 Subsoil	1 ac	\$1.32	\$2.00	\$0.30	\$0.40	\$1.86	\$2.77	\$8.66	
Total for Field operati	ons	\$27.09	\$13.39	\$4.44	\$16.76	\$8.48	\$20.60	\$90.76	
Wage \$10	.00 /hr Elec	\$0.05 /	/kwh						
Diesel \$2	.00 /gal								
Materials & Services		Oper						Total	
Item		#	Acres x	Quanti		Price\$		\$/acre	
10-34-0	Fertilizer	2	100%	13.4		1.62		\$21.71	
28-0-0	Fertilizer	2	100%	105		0.42		\$44.10	
Nemat Mtl & Applic	Custom	3	100%		ac	125.00		\$125.00	
Sugar Beets	Seed	4	100%		ac	50.00		\$50.00	
Nortron SC	Herbicide	4	40%		pt	15.50	•	\$18.60	
Counter 15G	Insecticide	4	30%	8.7		1.75		\$4.57	
Betamix	Herbicide	8	100%	7.5		0.83		\$6.23	
Poast	Herbicide	8	100%		OZ	0.57		\$2.85	
Weeding/Thinning	Other	9	50%		ac	30.00		\$15.00	
Water Charge	Other	10	100%		ac	25.00		\$25.00	
Aerial Spray	Custom	11	100%		ac	5.00		\$5.00	
Supertin	Fungicide	11	100%		oz	2.33		\$11.65	
Aerial Spray	Custom	12	10%		ac	5.00		\$0.50	
Mustang Max	Insecticide	12	10%	4.3		1.71		\$0.74	
Haul Beets	Custom	15	100%	20	ton	3.00	/ton	\$60.00	
Total Materials & Serv	vices Insec	ticide For	Root Mag	got and	Cutworm	/Wirewo	orm	\$390.94	
Total listed costs for	Field Operations	and Mate	erials & Se	ervices				\$481.70	
Interest on op.cap	-	3 cash exp			6.0%	8	mo	18.10	
Total Operating Costs								\$499.80	
Overheads includi	ing accounting, lia	ability insu	rance. vehi	icle cost.	office ext	oense		22.00	
Management includin	-		,				58.62		
Machinery taxes, hou				\$430	/acre @	20	6.5%	27.94	
Irrigation aveter taxe	•		•	Ψ100	/	- -	6.0%		

/acre

\$110 /acre

6.0%

110.00

\$718.36

1.00 acres

incl interest and depreciation on well

Irrigation system taxes, insurance & interest

Land real estate taxes and interest

Total Costs including overheads

Revenue

One Pass Tillage	800 GPM 35PSI				16	Acre-inc	hes	Year	35 2006
20 Tons/ac Sugar B			. = 10	_		-			
Field energtions	Times or	Labau	+Fuel&	Repa		Dep		_T-4-1	Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp		Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
2 Spray liquid fert	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
3 Spray	Custom	Φ4 F0	#0.54	Φ0.50	00 54	Φ4.40	Φ0.04	#40.04	
4 Till Plant Beets	1 ac	\$1.52	\$2.54	\$0.53	\$0.51	\$1.10	\$3.84	\$10.04	
5 Hoe	1 ac	\$0.66	\$0.47	\$0.10	\$0.05	\$0.58	\$0.31	\$2.16	
6 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
7 Row Crop Cult	1 ac	\$1.68	\$0.94	\$1.08	\$0.29	\$0.57	\$0.28	\$4.84	
8 Spray	1 ac	\$0.81	\$0.25	\$0.48	\$0.16	\$0.04	\$0.18	\$1.93	
9 Weed	Labor	60.07	# 22.25	<u></u>	CO E 4	Ф <i>Г</i> 47	#40.00	Ф Г 7 40	
10 PivotD125'Lift	8 AI	\$2.67	\$33.25	\$2.69	\$2.51	\$5.47	\$10.90	\$57.48	
11 Spray	Custom	ΦΟ 4Ο	Φ0.00	Φ0.00	#0.05	# 0.00	Φ0.04	04.50	
12 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
13 Top Beets	1 ac	\$1.88	\$1.36	\$0.52	\$1.18	\$0.97	\$2.65	\$8.56	
14 Lift Beets	1 ac	\$2.13	\$2.42	\$0.53	\$12.52	\$0.99	\$8.90	\$27.49	
15 Truck	Custom	04.00	# 0.00	00.00	00.40	04.00	A0 77	#0.00	
16 Subsoil	1 ac	\$1.32	\$2.00	\$0.30	\$0.40	\$1.86	\$2.77	\$8.66	
Total for Field operati	ons	\$16.65	\$46.17	\$8 24	\$19.15	\$13.09	\$31.35	\$134.66	
	.00 /hr Elec	\$0.05 /		ΨΟ.Σ Ι	Ψ10.10	φ10.00	ψο 1.00	Ψ10-1.00	
	.00 /m Liec	ψ0.00 /	KWII						
Materials & Services	.00 /gai	Oper						Total	
Item		-	Acres x	Quantit	hulac v	Price\$/	lunit -	\$/acre	
10-34-0	Fertilizer	#	100%		-				
		2 2		13.4		1.62		\$21.71	
28-0-0	Fertilizer	3	100%	105		0.42		\$44.10	
Nemat Mtl & Applic	Custom		100%		ac	125.00		\$125.00	
Sugar Beets	Seed	4	100%		ac	50.00		\$50.00	
Nortron SC	Herbicide	4	40%	3		15.50	•	\$18.60	
Counter 15G	Insecticide	4	30%	8.7		1.75		\$4.57	
Betamix	Herbicide	8	100%	7.5		0.83		\$6.23	
Poast	Herbicide	8	100%		0Z	0.57		\$2.85	
Weeding/Thinning	Other	9	50%		ac	30.00		\$15.00	
Aerial Spray	Custom	11	100%		ac	5.00		\$5.00	
Supertin	Fungicide	11	100%		OZ	2.33		\$11.65	
Aerial Spray	Custom	12	10%		ac	5.00		\$0.50	
Mustang Max	Insecticide	12	10%	4.3		1.71		\$0.74	
Haul Beets	Custom	15	100%	20	ton	3.00	/ton	\$60.00	
Total Materials & Serv	rices Insect	icide For	Root Mag	got and	Cutworm	/Wirewo	rm	\$365.94	-
Total listed costs for I	Field Operations	and Mate	erials & Se	rvices				\$500.59	
Interest on op.cap	•				6.0%	8	mo	18.25	
Total Operating Costs					0.070	O	1110	\$518.84	
Total Operating Costs	and Ose Relate	и Вергес	iation					ψ510.04	
Overheads includi	ng accounting, lia	bility insu	rance, vehi	cle cost,	office exp	oense		22.00	
Management including								58.62	
Machinery taxes, hou		•		\$421	/acre @	20	6.5%	27.36	
Irrigation system taxe				\$248	-	<u> </u>	6.0%	14.87	
Land real estate taxes				\$110			acres	110.00	
	terest and depre	ciation o	n well	Ψιισ		1.00	40.00	110.00	
Total Costs including	-							\$751.69	
_									
Revenue		Ta	0			/T			
Value of Production	on <u>20</u>	Tons	Sugar Be	ets @ \$ _. - * * * * * * * * * * * * * * * * * * *		Tons			
Program Paymen	t base x		Bu HWY @			bu x	85%		
Total Revenue			T-4-1 0						

Net Revenue = Total Revenue - Total Costs including overheads =

Ourmonor Brytaina	
Notill, Following Corn or Grain S	Sorghum
13 Cwt/ac Sunflower	

13 CWUAC Sullilov	vei									
	irs	Depr	ec		Your					
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate	
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
2 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
3 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76		
4 Spray	0.55 ac	\$0.45	\$0.14	\$0.26	\$0.09	\$0.02	\$0.10	\$1.06		
5 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35		
6 Truck	Custom									
Total for Field opera	itions	\$4.98	\$4.79	\$3.02	\$1.75	\$9.41	\$3.22	\$27.16		
Wage \$1	0.00 /hr Elec	\$0.05 /	'kwh							
Diesel \$	62.00 /gal									
Materials & Services	•	Oper						Total		
Item		#	Acres x	Quantity	v/ac v	Price\$/	ınit =	\$/acre		
	Herbicide	1	100%	32 (0.11 /		\$3.52		
Glyphosate w/Surf		=								
21-0-0-26s	Spray Grade	1	100%	2		0.23 /		\$0.46		
Prowl H2O	Herbicide	1	100%	3 (0.25 /		\$0.75		
28-0-0	Fertilizer	1	100%	50 I		0.42 /		\$21.00		
Spartan 7F DF	Herbicide	2	100%	5 0		3.00 /		\$15.00		
Glyphosate w/Surf	Herbicide	2	50%	32 0	Σ	0.11 /	0Z	\$1.76		
21-0-0-26s	Spray Grade	2	50%	2 I	b	0.23 /	lb	\$0.23		
Prowl H2O	Herbicide	2	100%	3 0	Σ	0.25 /	0Z	\$0.75		
Sunflower	Seed	3	100%	5 I	b	2.18 /	lb	\$10.90		
Aerial Spray	Custom	4	55%	1 a		5.00 /		\$2.75		
Warrior T	Insecticide	4	55%	3.84 0		1.74 /		\$3.67		
Haul Grain cwt	Custom	6	100%	13 0		0.20 /		\$2.60		
riadi Grain CWC	Oddiom	O	100 /0	10 (7VV L	0.20 /	CVVI	Ψ2.00		
Total Materials & Se	rvicas Insacti	cido for s	seed weev	il and su	nflower	moth		\$63.39		
Total Materials & Se	i vices ilisecti	ciue ioi s	seed weev	ii aiiu su	iiiowei	moun		φ03.33		
-	F: 110 (:							000 50		
Total listed costs for				rvices				\$90.56		
Interest on op.ca		cash exp			6.0%	8 r	no	3.12		
Total Operating Cos	ts and Use Related	l Depreci	iation					\$93.68		
Overheads inclu	ding accounting, liab	oility insu	rance, vehi	cle cost, o	office exp	pense		4.00		
Management includi								9.34		
Machinery taxes, ho				\$145 /	acre (20	6.5%	9.41		
maoninory taxoo, no	aomy, moaranoo o		•	Ψιίον	4010	2	0.070	0.41		
Land real estate tax	as and interest			\$30 /	acre	1.00 a	ores	30.00		
Land Teal estate tax	es and interest			φ30 /	acie	1.00 8	ICICS	30.00		
Total Costs includin	g overheads							\$146.43		
	_									
Revenue										
Value of Production 13 Cwt Sunflower @ \$ /Cwt										
				@ \$ -		/				
Program Payme	ent <u>base x</u>	E	Bu HWY @	\$ _		/bu x	85%			
Total Revenue			T							
Net Revenue = Total Revenue - Total Costs including overheads =										

Ecofallow, After Wheat, 2 Crops in 3 Yr
15 Cwt/ac Sunflower

15 Cwt/ac Sunflowe	r									
	Times or		+Fuel&	Repa	irs	Depr	ес		Your	
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate	
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
2 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
4 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50		
5 Plant No-Till	1 ac	\$2.03	\$1.27	\$0.28	\$1.05	\$1.56	\$1.56	\$7.76		
6 Spray	Custom	Ψ2.00	Ψ	Ψ0.20	Ψ1.00	Ψ1.00	ψ1.00	ψ1 σ		
7 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35		
8 Truck	Custom	Ψ1.02	ΨΖ.52	ψ1.50	ψ0.11	Ψ1.11	ψ1.10	ψ10.00		
o mack	Oustoni									
Total for Field operation	ons	\$5.51	\$5.11	\$3.34	\$2.16	\$9.43	\$3.54	\$29.09		
	.00 /hr Elec	\$0.05		ψ0.01	Ψ2.10	ψ0.10	ψ0.01	Ψ20.00		
•	.00 /gal		ons 1 and 2	2 nost wh	noat han	rost				
Materials & Services	.00 /gai	Oper	nis i ana i	e post wi	icat mai v	CSt		Total		
		#	A area v	Quantit	wloo w	Drico¢/	unit -			
Item	I I a alatatata		Acres x	Quantit	-	Price\$/		\$/acre		
Landmaster BW	Herbicide	1	100%	54 (0.12 /		\$6.48		
21-0-0-26s	Spray Grade		100%	2		0.23 /		\$0.46		
Glyphosate w/Surf	Herbicide	2	100%	32 (0.11 /		\$3.52		
21-0-0-26s	Spray Grade		100%	2		0.23 /		\$0.46		
Glyphosate w/Surf	Herbicide	3	100%	32 (0.11 /		\$3.52		
21-0-0-26s	Spray Grade		100%	2		0.23 /		\$0.46		
Prowl H2O	Herbicide	3	100%	3 (0.25 /		\$0.75		
28-0-0	Fertilizer	3	100%	50 I		0.42 /		\$21.00		
Spartan 7F DF	Herbicide	4	100%	5 (3.00 /		\$15.00		
Glyphosate w/Surf	Herbicide	4	50%	32 (0.11 /		\$1.76		
21-0-0-26s	Spray Grade	e 4	50%	2 I		0.23 /		\$0.23		
Prowl H2O	Herbicide	4	100%	3 (0.25 /		\$0.75		
Sunflower	Seed	5	100%	5 I	b	2.18 /	lb	\$10.90		
Aerial Spray	Custom	6	55%	1 a		5.00 /	ac	\$2.75		
Warrior T	Insecticide	6	55%	3.84		1.74 /	ΟZ	\$3.67		
Haul Grain cwt	Custom	8	100%	15 (cwt	0.20 /	cwt	\$3.00		
Total Materials & Serv	rices <i>Inse</i>	cticide for	see weevil	and sun	flower n	oth		\$74.71		
Total listed costs for I	Field Operation	s and Mate	erials & Se	rvices				\$103.81		
Interest on op.cap	oital \$9	1 cash exp	ense @		6.0%	8 r	no	3.63		
Total Operating Costs	and Use Relat	ed Deprec	iation					\$107.44		
Overheads includi	ng accounting, I	iability insu	rance, vehi	icle cost.	office exp	ense		4.00		
Management including				,				10.62		
Machinery taxes, hou		•		\$152 /	acre @	D)	6.5%	9.85		
macrimory taxoo, mou	omg, mourano	, a	•	Ψ1027	4010	9	0.070	0.00		
Land real estate taxes	and interest			\$30 /	acre	1.50 a	acres	45.00		
Total Costs including	overheads							\$176.91		
i otai oosta iiioluuliig	Overneaus							ψ110.01		
Revenue										
Value of Production	on 1	5 Cwt	Sunflov	ver @ \$	/	Cwt				
		_		@ \$ -						
Program Paymen	t base	X	Bu HWY @	\$ -		bu x	85%			
Total Revenue			_	_						
Net Revenue = Total Revenue - Total Costs including overheads =										

Notill After Row Crop, 40 bu Yield Goal 35 Bu/ac Wheat

35 Bu/ac Wheat									
	Times or		+Fuel&	Repa	airs	Depr	ес		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 No-Till Drill	1 ac	\$1.59	\$1.80	\$0.23	\$1.99	\$1.28	\$1.81	\$8.69	
2 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
3 Spray	Custom	φυ. το	Ψ0.20	Ψ0.20	Ψ0.20	φσ.σσ	ΨΟ.Δ.	ψ1.00	
4 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35	
5 Truck	Custom	Ψ1.52	Ψ2.52	ψ1.50	ψ0.11	Ψ1.11	ψ1.10	ψ10.00	
3 Truck	Custom								
Total for Field opera	ations	\$3.60	\$4.95	\$2.42	\$2.35	\$9.07	\$3.15	\$25.54	
•	10.00 /hr Elec	\$0.05		Ψ2.72	Ψ2.00	ψ0.07	ψ0.10	Ψ20.04	
	\$2.00 /gal	ψ0.007	/ IXVVII						
Materials & Services		Oper						Total	
Item	5	•	A area v	Quantit	wloo w	Price\$/	unit -		
	F +111:	#	Acres x	Quantit	-	-		\$/acre	
10-34-0	Fertilizer	1	100%	8 (-	1.62 /	_	\$12.96	
Wheat	Seed	1	100%	90 I	-	0.16 /		\$14.40	
28-0-0	Fertilizer	2	100%	80 I		0.42 /		\$33.60	
Ally	Herbicide	2	100%	0.1		25.40 /		\$2.54	
2,4-D Ester 4#	Herbicide	2	100%	0.5 բ		1.88 /	•	\$0.94	
NIS	Herbicide	2	100%	6 (0.13 /		\$0.78	
Aerial Spray	Custom	3	15%	1 8		5.00 /		\$0.75	
Lorsban 4 E	Insecticide	3	10%	1.5 բ		2.93 /	•	\$0.44	
Warrior T	Insecticide	3	5%	1.92 (1.74 /	0Z	\$0.17	
Haul Grain bu	Custom	5	100%	35 k	ou	0.10 /	bu	\$3.50	
Total Materials & Se	rvicos Insoct	icido For	Russian V	Nhoat An	hid and	Army Cu	tworm	\$70.08	
Total Materials & Se	ii vices iiisect	icide i oi	Nussiaii v	νιισαι Αρ	iliu aliu	Allily Cu	twoiiii	Ψ10.00	
Total listed costs fo	r Field Operations	and Mate	erials & Se	ervices				\$95.62	
Interest on op.c		cash exp			6.0%	8 r	nο	3.34	
Total Operating Cos					0.070	0.		\$98.96	
. otal operating		ор. оо						400.00	
Overheads inclu	iding accounting, lia	bility insu	rance, veh	icle cost.	office ext	pense		3.00	
Management includ				1010 0001,	omeo ox	301100		9.98	
Machinery taxes, ho				\$145 /	acre (D)	6.5%	9.43	
macminery taxes, me	asing, maaranee (w 11110103	•	φ1407	aore e	2	0.070	0.40	
Land real estate tax	es and interest			\$55 /	acre	1.00 a	acres	55.00	
Total Costs including	ng overheads							\$176.37	
Revenue									
Value of Produc	ction 35	Bu	Whe	eat @ \$		/Bu			
		-		@ \$ -	,	1			
Program Payme	ent <u>base x</u>		Bu HWY @	\$		/bu x	85%		
Total Revenue				_					
N	et Revenue = Total	Revenue	e - Total Co	sts includ	ling overl	neads =			

Times or Flue & Repairs Deprec Total Estimate Period	45 Bu/ac wneat									
Fallow Master		Times or		+Fuel&	Repa	airs	Dep	rec		Your
2 Fallow Master 1 ac \$0.51 \$0.81 \$0.20 \$0.49 \$0.41 \$1.05 \$3.48 \$3 Fallow Master 1 ac \$0.51 \$0.81 \$0.20 \$0.49 \$0.41 \$1.05 \$3.48 \$4 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.83 \$0.82 \$0.22 \$0.61 \$0.42 \$1.12 \$4.02 \$5 Rod Weeder 1 ac \$0.86 \$0.95 \$0.061 \$0.42 \$1.12 \$4.02 \$6 Spray(statched) 1 ac \$0.68 \$0.95 \$0.01 \$2.34 \$0.55 \$2.94 \$7.56 \$8 Spray 1 ac \$0.49 \$0.23 \$0.29 \$0.25 \$0.03 \$0.21 \$1.50 \$9 Spray Custom \$10 Combine 1 ac \$0.97 \$2.32 \$1.40 \$0.14 \$5.73 \$0.61 \$11.17 \$11 Truck Custom \$2.00 /hr Elec \$0.05 /kwh \$11 Truck Custom \$2.00 /hr Elec \$0.05 /kwh \$2.83 \$5.58 \$8.39 \$9.34 \$39.20 \$2.20 \$2.20 /gal \$2.00 /hr Elec \$0.05 /kwh \$2.83 \$5.58 \$8.39 \$9.34 \$39.20 \$2.20 \$2.20 /gal \$2.00 /gal \$2.00 /hr Elec \$0.05 /kwh \$2.83 \$0.20 \$2.20 /gal \$2.00 /g	Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
Sallow Master	1 Fallow Master	1 ac	\$0.51	\$0.81	\$0.20	\$0.49	\$0.41	\$1.05	\$3.48	
## Rod Weeder	2 Fallow Master	1 ac	\$0.51	\$0.81	\$0.20	\$0.49	\$0.41	\$1.05	\$3.48	
S S S S S S S S S S	3 Fallow Master	1 ac	\$0.51	\$0.81	\$0.20	\$0.49	\$0.41	\$1.05	\$3.48	
S Rod Weeder	4 Rod Weeder	1 ac	\$0.83	\$0.82	\$0.22	\$0.61	\$0.42	\$1.12	\$4.02	
6 Spray(attached) 1 ac \$0.16 \$0.16 \$0.16 \$0.50 \$	5 Rod Weeder	1 ac	\$0.83	\$0.82	\$0.22	\$0.61	\$0.42	\$1.12	\$4.02	
Torill	6 Spray(attached) 1 ac	\$0.16			\$0.16		\$0.18	\$0.50	
8 Spray				\$0.95	\$0.10		\$0.55			
S Spray	8 Sprav	1 ac		\$0.23	\$0.29			-		
Total for Field operations			*	*	,		*	* -	,	
Total for Field operations	. ,		\$0.97	\$2.32	\$1.40	\$0.14	\$5.73	\$0.61	\$11.17	
Wage \$10.00 /hr Elec \$0.05 /kwh Diesel \$2.00 /gal			φοιστ	Ψ2.02	Ψσ	Ψσ	ψο σ	Ψ0.01	Ψ	
Wage Diesel \$10.00 /hr Diesel Elec \$0.05 /kwh Diesel \$2.00 /gal Materials & Services Oper Total Item # Acres x Quantity/ac x Price\$/unit = \$/acre 28-0-0 Fertilizer 6 100% 60 lb N 0.42 /lb N \$25.20 10-34-0 Fertilizer 7 100% 8 gal 1.62 /gal \$12.96 \$12.96 Wheat Seed 7 100% 60 lb 0.16 /lb \$9.60 \$9.60 2,4-D Ester 4# Herbicide 8 100% 0.5 pt 1.88 /pt \$9.94 Ally Herbicide 8 100% 0.1 oz 25.40 /oz \$2.54 NIS Herbicide 8 100% 6 oz 0.13 /oz \$0.78 Aerial Spray Custom 9 15% 1 ac 5.00 /ac \$0.75 Lorsban 4 E Insecticide 9 10% 1.5 pt 2.93 /pt \$0.44 Warrior T Insecticide 9 5% 1.92 oz 1.74 /oz \$0.17 Haul Grain bu Custom 11 100% 45 bu 0.10 /bu \$4.50 Total Materials & Services Insecticide For Russian Wheat Aphid and Army Cutworm \$57.88 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 12.54 \$100.25 Overheads including accounting, liability insurance \$20 /acre @ 6.5% 16.24 \$100.25 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 \$100.25 Revenue Value of Production	Total for Field aper	ntiono	¢5.40	¢7 57	¢2 02	¢ E E O	ድር ጋር	ድር 24	¢20.20	
Naterials & Services Oper Total	-				φ2.03	φυ.υο	ФО. 39	φ 9.34	\$39.20	
Materials & Services Hem	_		\$0.05 /	KWII						
Item		•	Oper						Total	
28-0-0 Fertilizer 6 100% 60 lb N 0.42 /lb N \$25.20		-	-	Acres x	Quantit	v/ac x	Price\$/	unit =		
10-34-0		Fertilizer				-			-	
Wheat Seed 7 100% 60 lb 0.16 /lb \$9.60 2,4-D Ester 4# Herbicide 8 100% 0.5 pt 1.88 /pt \$0.94 Ally Herbicide 8 100% 0.1 oz 25.40 /oz \$2.54 NIS Herbicide 8 100% 0.1 oz 25.40 /oz \$0.78 Aerial Spray Custom 9 15% 1 ac 5.00 /ac \$0.75 Lorsban 4 E Insecticide 9 10% 1.5 pt 2.93 /pt \$0.44 Warrior T Insecticide 9 5% 1.92 oz 1.74 /oz \$0.17 Haul Grain bu Custom 11 100% 45 bu 0.10 /bu \$4.50 Total Materials & Services Insecticide For Russian Wheat Aphid and Army Cutworm \$57.88 Total listed costs for Field Operations and Materials & Services \$97.08 Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$250										
2,4-D Ester 4#								0		
Ally										
NIS	,							•		
Aerial Spray										
Lorsban 4 É Insecticide 9 10% 1.5 pt 2.93 /pt \$0.44 Warrior T Insecticide 9 5% 1.92 oz 1.74 /oz \$0.17 Haul Grain bu Custom 11 100% 45 bu 0.10 /bu \$4.50 Total Materials & Services Insecticide For Russian Wheat Aphid and Army Cutworm \$57.88 Total listed costs for Field Operations and Materials & Services Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance Wachinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu / Bu / Bu / Bu / Bu / Bu / Bu / B										
Warrior T Insecticide 9 5% 1.92 oz 1.74 /oz \$0.17 Haul Grain bu Custom 11 100% 45 bu 0.10 /bu \$4.50 Total Materials & Services Insecticide For Russian Wheat Aphid and Army Cutworm \$57.88 Total listed costs for Field Operations and Materials & Services \$97.08 Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu / Program Payment base x Bu HWY @ \$ /Bu / Du x 85% Total Revenue										
Haul Grain bu Custom 11 100% 45 bu 0.10 /bu \$4.50 Total Materials & Services Insecticide For Russian Wheat Aphid and Army Cutworm \$57.88 Total listed costs for Field Operations and Materials & Services \$97.08 Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance 12.54 Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu /								•		
Total Materials & Services										
Total listed costs for Field Operations and Materials & Services Interest on op.capital	Haui Grain bu	Custom	11	100%	45 1	bu	0.10 /	bu	\$4.50	
Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance 12.54 Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu	Total Materials & Se	ervices Insec	cticide For	Russian V	Vheat Ap	hid and	Army Cu	tworm	\$57.88	
Interest on op.capital \$79 cash expense @ 6.0% 8 mo 3.17 Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance 12.54 Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu	Total listed costs fo	r Field Operation	s and Mate	erials & Se	rvices				\$97.08	
Total Operating Costs and Use Related Depreciation \$100.25 Overheads including accounting, liability insurance, vehicle cost, office expense 3.00 Management including scouting and crop insurance 12.54 Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu / Bu / Bu / Bu / Bu / Bu / Bu / B		-				6.0%	8 r	no	-	
Management including scouting and crop insurance Machinery taxes, housing, insurance & interest Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads Revenue Value of Production At Bu Wheat @ \$ /Bu Program Payment Dase x Bu HWY @ \$ /bu x 85% Total Revenue										
Management including scouting and crop insurance Machinery taxes, housing, insurance & interest Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads Revenue Value of Production At Bu Wheat @ \$ /Bu Program Payment Dase x Bu HWY @ \$ /bu x 85% Total Revenue	Overheads inclu	iding accounting 1	iahility ineu	rance vehi	cle cost	office ev	nense		3 00	
Machinery taxes, housing, insurance & interest \$250 /acre @ 6.5% 16.24 Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu / Bu / Bu / Bu / Bu / Bu / Bu / B					CIE COSI,	Office ext	Jense			
Land real estate taxes and interest \$30 /acre 2.00 acres 60.00 Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$/Bu					\$250 /	lacre (₹)	6 5%	_	
Total Costs including overheads \$192.02 Revenue Value of Production 45 Bu Wheat @ \$ /Bu Program Payment base x Bu HWY @ \$ /bu x 85% Total Revenue	wacililery taxes, it	ousnig, msurance	c interes	•	Ψ250 /	acie (<i>U</i>	0.570	10.24	
Revenue Value of Production 45 Bu Wheat @ \$/Bu @ \$/ Program Payment Dase xBu HWY @ \$/bu x 85% Total Revenue	Land real estate tax	es and interest			\$30 /	acre/	2.00 8	acres	60.00	
Value of Production 45 Bu Wheat @ \$/Bu // /Bu	Total Costs including	ng overheads							\$192.02	
Value of Production 45 Bu Wheat @ \$/Bu ///bu x 85% Program Payment base xBu HWY @ \$/bu x 85% Total Revenue	Povenue									
Program Payment base x Bu HWY @ \$ /bu x 85% Total Revenue		rtion 4	5 Ru	\//ha	at @ ¢		/Ru			
Program Payment base x Bu HWY @ \$ /bu x 85% Total Revenue	value oi Fiodul	4	<u></u>	VVIIC	<u> </u>	'	Ju I			
		ent <u>base</u>	xI	Bu HWY @			bu x	85%		
		et Revenue = Tot	al Revenue	e - Total Co	sts includ	ling overl	neads =			

40 Bu/ac wneat									
	Times or		+Fuel&	Repa	irs	Depr	ec		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Disc	1 ac	\$1.00	\$1.52	\$0.16	\$0.83	\$0.88	\$0.85	\$5.24	
2 Field Cult		\$0.51	\$0.77		\$0.47	\$0.44	\$0.48	\$2.75	
	1 ac			\$0.08					
3 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
4 Field Cult	1 ac	\$0.51	\$0.77	\$0.08	\$0.47	\$0.44	\$0.48	\$2.75	
5 Rod Weeder	1 ac	\$0.83	\$0.82	\$0.22	\$0.61	\$0.42	\$1.12	\$4.02	
6 Rod Weeder	1 ac	\$0.83	\$0.82	\$0.22	\$0.61	\$0.42	\$1.12	\$4.02	
7 Anhy Apply(attach)	1 ac	\$0.27			\$0.16		\$0.16	\$0.59	
8 Drill	1 ac	\$0.68	\$0.95	\$0.10	\$2.34	\$0.55	\$2.94	\$7.56	
9 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
10 Spray	Custom	ψ0.40	Ψ0.20	Ψ0.20	Ψ0.20	ψ0.00	Ψ0.21	Ψ1.00	
		¢0.07	ድር ጋር	¢4.40	ΦO 14	¢E 7 2	ድር 61	C11 17	
11 Combine	1 ac	\$0.97	\$2.32	\$1.40	\$0.14	\$5.73	\$0.61	\$11.17	
12 Truck	Custom								
Total for Field operatio	ns	\$6.60	\$8.97	\$2.63	\$6.35	\$9.35	\$8.44	\$42.34	
Wage \$10.0	00 /hr Elec	\$0.05 /	/kwh						
•	00 /gal								
Materials & Services	70 /gai	Oper						Total	
		-	A	0		Duin of/	!4		
Item		#	Acres x	Quantit	•	Price\$/		\$/acre	
82-0-0	Fertilizer	7	100%	50 I		0.24 /		\$12.00	
10-34-0	Fertilizer	8	100%	8 (1.62 /	gal	\$12.96	
Wheat	Seed	8	100%	60 I	b	0.16 /	lb	\$9.60	
2,4-D Ester 4#	Herbicide	9	100%	0.5 p	ot	1.88 /	pt	\$0.94	
Ally	Herbicide	9	100%	0.1 c		25.40 /		\$2.54	
NIS	Herbicide	9	100%	6 0		0.13 /		\$0.78	
Aerial Spray	Custom	10	15%	1 a		5.00 /		\$0.75	
Lorsban 4 E	Insecticide	10	10%	1.5 p		2.93 /		\$0.44	
Warrior T	Insecticide	10	5%	1.92 (1.74 /		\$0.17	
Haul Grain bu	Custom	12	100%	40 k	ou	0.10 /	bu	\$4.00	
Total Materials & Servi	ces Insect	icide For	Russian V	Vheat Ap	hid and	Army Cu	tworm	\$44.18	
Total listed costs for Fi	ald Operations	and Mate	oriale & So	rvices				\$86.51	
				II VICES	6.00/	0 -			
Interest on op.capit		cash exp			6.0%	8 r	no	2.75	
Total Operating Costs	and Use Relate	d Deprec	iation					\$89.26	
Overheads includin	g accounting, lia	bility insu	rance, vehi	cle cost, o	office exp	pense		3.00	
Management including	scouting and o	rop insu	rance					11.26	
Machinery taxes, hous				\$244 /	acre @	9)	6.5%	15.83	
macrimory tance, near			•	+- ···		9	0.070		
Land real estate taxes	and interest			\$30 /	acre	2.00 a	ores	60.00	
Land real estate taxes	and interest			φ30 /	acie	2.00 8	icies	60.00	
Total Costs including of	overheads							\$179.36	
Povonuo									
Revenue	. 40	Du	١٨/١	not @ f		/D.			
Value of Production	40	Bu	vvne	eat @ \$_	/	'Bu			
Drogram Daymas -	h	. ,	DIT FINANCE	、	/	'hu v	0.50/		
Program Paymentbase xBu HWY @ \$/bu x 85%									
Total Revenue	Revenue = Total	Devenue	Total Ca	ete inalud	ina over	neada =			
Net r	veverine – 10fg	i ve ve iiue	; - TOLAT CO	olo ii iciuu	ing over	icaus –			

Notill Wheat before corn, 2 Crops in 3 Yr, 60 bu Yield Goal 55 Bu/ac Wheat

55 Bu/ac Wheat									
	Times or	•	+Fuel&	Repa	airs	Depr	ес		Your
Field operations	Qty	Labor	Lube	+Pwr	+lmp	+Pwr	+lmp	=Total	Estimate
1 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
2 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
3 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
4 Spray	1 ac	\$0.49	\$0.23	\$0.29	\$0.25	\$0.03	\$0.21	\$1.50	
5 No-Till Drill	1 ac	\$1.59	\$1.80	\$0.23	\$1.99	\$1.28	\$1.81	\$8.69	
6 Spread,Fert.	1 ac	\$0.78	\$0.55	\$0.46	Incl	\$0.04	Incl	\$1.83	
7 Spray	1 ac	\$0.49	\$0.23	\$0.40	\$0.25	\$0.03	\$0.21	\$1.50	
8 Spray	Custom	ψ0.+3	Ψ0.23	Ψ0.23	ψ0.23	ψ0.00	Ψ0.21	ψ1.50	
9 Combine	1 ac	\$1.52	\$2.92	\$1.90	\$0.11	\$7.77	\$1.13	\$15.35	
10 Truck	Custom	φ1.52	Ψ2.92	φ1.90	φυ. ι ι	φ1.11	φ1.13	φ15.55	
TO TIUCK	Custom								
Total for Field operation	ons	\$6.34	\$6.42	\$4.04	\$3.35	\$9.22	\$3.99	\$33.36	
	.00 /hr Elec	•		,	*	* -	,	,	
•	.00 /gal	Ψ0.00.							
Materials & Services	.00 /gai	Oper						Total	
Item		#	Acres x	Quantit	v/ac x	Price\$/	unit =	\$/acre	
Glyphosate w/Surf	Herbicide	1	100%	32 (-	0.11 /		\$3.52	
21-0-0-26s	Spray Grad	=	100%	2 1		0.117		\$0.46	
Glyphosate w/Surf	Herbicide	2	100%	32 (0.23 /		\$3.52	
21-0-0-26s			100%	2 1		0.11/			
	Spray Grad							\$0.46	
Glyphosate w/Surf	Herbicide	3	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grad		100%	2		0.23 /		\$0.46	
Glyphosate w/Surf	Herbicide	4	100%	32 (0.11 /		\$3.52	
21-0-0-26s	Spray Grad		100%	2		0.23 /		\$0.46	
10-34-0	Fertilizer	5	100%		gal	1.62 /		\$12.96	
Wheat	Seed	5	100%	60 I		0.16 /		\$9.60	
46-0-0	Fertilizer	6	100%	70 I		0.38 /		\$26.60	
Ally	Herbicide	7	100%	0.1		25.40 /		\$2.54	
NIS	Herbicide	7	100%	6 (0.13 /		\$0.78	
2,4-D Ester 4#	Herbicide	7	100%	ا 0.5		1.88 /	•	\$0.94	
Aerial Spray	Custom	8	15%	1 a		5.00 /		\$0.75	
Lorsban 4 E	Insecticide	8	10%	ا 1.5	ot	2.93 /	pt	\$0.44	
Warrior T	Insecticide	8	5%	1.92 (ΟZ	1.74 /	OZ	\$0.17	
Haul Grain bu	Custom	10	100%	55 I	ou	0.10 /	bu	\$5.50	
Total Materials & Serv	rices <i>Ins</i> e	cticide For	Russian V	Vheat Ap	hid and	Army Cu	tworm	\$76.20	
				•		•			
Total listed costs for F	•			ervices				\$109.55	
Interest on op.cap	ital \$9	96 cash exp	ense @		6.0%	8 r	no	3.85	
Total Operating Costs	and Use Rela	ted Deprec	iation					\$113.40	
	ng accounting,			icle cost,	office exp	oense		3.00	
Management including								15.10	
Machinery taxes, hous	sing, insuranc	e & interes	t	\$166 <i>i</i>	acre @	0	6.5%	10.80	
Land real estate taxes	and interest			\$30 /	acre/	1.50 a	acres	45.00	
Total Costs including	overheads							\$187.30	
Revenue Value of Production	on <u></u>	5 <u>5</u> Bu	Whe	eat @ \$_	/	/Bu			
Program Paymen	t <u> </u>	<u> </u>	Bu HWY @	@ \$ <u>_</u> } \$ _	/	bu x	85%		
Total Revenue	Revenue = To	tal Revenue	e - Total Co	- ests includ	ling over	neads =			
1100				2.00.00	9 5 7 5 1 1	.5000			

Net Revenue = Total Revenue - Total Costs including overheads =

Total Revenue